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�о 8Eпол=е=8е пу=кт4 5 �D468л пDедоEт46ле=8O 6 2019 7оду 8=KE <е65Nд6ет=KE 
тD4=EDеDто6 87 DедеD4лL=о7о 5Nд6ет4 5Nд6ет4< Eу5Jекто6  оEE89Eко9 $едеD4F88 6 FелOE 
EоD8=4=E8Dо64=8O D4EEод=KE о5O74телLEт6 Eу5Jекто6  оEE89Eко9 $едеD4F88, 6о7=8к4NI8E пD8 
Dе4л874F88 Dе78о=4лL=KE пDоекто6, о5еEпеG864NI8E доEт86е=8е Fеле9, пок474теле9 8 
Dе7улLт4т4 DедеD4лL=о7о пDоект4 "�=DоD<4F8о==4O 8=DD4EтDуктуD4" =4F8о=4лL=о9 пDо7D4<<K 
"&8DDо64O Mко=о<8к4  оEE89Eко9 $едеD4F88", ут6еD6де==KE поEт4=о6ле=8е< �D468телLEт64 
 оEE89Eко9 $едеD4F88 от 9 =оO5DO 2019 7од4 N 1438: 

1. 'т6еDд8тL пD8л474е<Kе <етод8GеEк8е Dеко<е=д4F88 по Dе4л874F88 <еDопD8Oт89 по 
D4768т8N 8=DоD<4F8о==о-телеко<<у=8к4F8о==о9 8=DD4EтDуктуDK о5Jекто6 
о5Iео5D47о64телL=KE оD74=874F89 8 о5еEпеG864NI8E доEт86е=8е Dе7улLт4т4 DедеD4лL=о7о 
пDоект4 6 D4<к4E Dе78о=4лL=KE пDоекто6, о5еEпеG864NI8E доEт86е=8е Fеле9, пок474теле9 8 
Dе7улLт4т4 DедеD4лL=о7о пDоект4 "�=DоD<4F8о==4O 8=DD4EтDуктуD4" =4F8о=4лL=о9 пDо7D4<<K 
"&8DDо64O Mко=о<8к4  оEE89Eко9 $едеD4F88". 

2. Ко=тDолL 74 8Eпол=е=8е< =4EтоOIе7о D4EпоDO6е=8O оEт46лON 74 Eо5о9. 
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1. �4EтоOI8е �етод8GеEк8е Dеко<е=д4F88 по Dе4л874F88 <еDопD8Oт89 по D4768т8N 
8=DоD<4F8о==о-телеко<<у=8к4F8о==о9 8=DD4EтDуктуDK о5Jекто6 о5Iео5D47о64телL=KE 
оD74=874F89 8 о5еEпеG864NI8E доEт86е=8е Dе7улLт4т4 DедеD4лL=о7о пDоект4 6 D4<к4E 
Dе78о=4лL=KE пDоекто6, о5еEпеG864NI8E доEт86е=8е Fеле9, пок474теле9 8 Dе7улLт4т4 
DедеD4лL=о7о пDоект4 "�=DоD<4F8о==4O 8=DD4EтDуктуD4" =4F8о=4лL=о9 пDо7D4<<K "&8DDо64O 
Mко=о<8к4  оEE89Eко9 $едеD4F88" (д4лее - �етод8GеEк8е Dеко<е=д4F88) пD8<е=ONтEO пD8 
Dе4л874F88 <еDопD8Oт89, =4пD46ле==KE =4 о5еEпеGе=8е D4768т8O 8=DоD<4F8о==о-

телеко<<у=8к4F8о==о9 8=DD4EтDуктуDK о5Jекто6 о5Iео5D47о64телL=KE оD74=874F89 (д4лее - 

<еDопD8Oт8O, 8=DD4EтDуктуD4) 8 6клNG4Nт: 

4) Eо7д4=8е 8 <одеD=874F8N лок4лL=KE 6KG8Eл8телL=KE Eете9, 6 то< G8Eле 74купку 
о5оDудо64=8O лок4лL=KE 6KG8Eл8телL=KE Eете9; 

5) Eо7д4=8е 8 <одеD=874F8N EтDуктуD8Dо64==KE к45елL=KE E8Eте<, 6 то< G8Eле 74купку 
о5оDудо64=8O 8 <4теD84ло6 EтDуктуD8Dо64==KE к45елL=KE E8Eте<; 

6) Eо7д4=8е 8 <одеD=874F8N E8Eте< ко=тDолO упD46ле=8O доEтупо<, 6 то< G8Eле 74купку 
о5оDудо64=8O E8Eте< ко=тDолO упD46ле=8O доEтупо<; 

7) Eо7д4=8е 8 <одеD=874F8N E8Eте< 68део=45лNде=8O, 6 то< G8Eле 74купку о5оDудо64=8O 
68део=45лNде=8O; 

д) о5еEпеGе=8е 8EтоG=8к4<8 5еEпеDе5о9=о7о п8т4=8O по<еIе=89 4пп4D4т=KE 8 (8л8) 
ко<<ут4F8о==KE Fе=тDо6, 6 то< G8Eле 74купку 8EтоG=8ко6 5еEпеDе5о9=о7о п8т4=8O; 

е) о5еEпеGе=8е 46то<4т8GеEк8<8 Dе7улOтоD4<8 =4пDO6е=8O по<еIе=89 4пп4D4т=KE 8 (8л8) 
Mт46=KE ко<<ут4F8о==KE Fе=тDо6, 6 то< G8Eле 74купку 46то<4т8GеEк8E Dе7улOтоDо6 =4пDO6е=89. 

2. �D8о5Dете=8е ук474==KE то64Dо6, 6 то< G8Eле о5оDудо64=8O 8 <4теD84ло6, 
оEуIеEт6лOетEO 74 EGет EDедEт6 пDедоEт46лOе<KE 8=KE <е65Nд6ет=KE тD4=EDеDто6 87 
DедеD4лL=о7о 5Nд6ет4 5Nд6ет4< Eу5Jекто6  оEE89Eко9 $едеD4F88 6 FелOE EоD8=4=E8Dо64=8O 
D4EEод=KE о5O74телLEт6 Eу5Jекто6  оEE89Eко9 $едеD4F88, 6о7=8к4NI8E пD8 Dе4л874F88 
Dе78о=4лL=KE пDоекто6, о5еEпеG864NI8E доEт86е=8е Fеле9, пок474теле9 8 Dе7улLт4т4 
DедеD4лL=о7о пDоект4 "�=DоD<4F8о==4O 8=DD4EтDуктуD4" =4F8о=4лL=о9 пDо7D4<<K "&8DDо64O 
Mко=о<8к4  оEE89Eко9 $едеD4F88" (д4лее - DедеD4лL=K9 пDоект, 8=Kе <е65Nд6ет=Kе 
тD4=EDеDтK), 4 т4к6е 74 EGет EDедEт6 ко=Eол8д8Dо64==KE 5Nд6ето6 Eу5Jекто6  оEE89Eко9 
$едеD4F88 8 6=е5Nд6ет=KE EDедEт6. 

3. �е допуEк4етEO пDедоEт46ле=8е 8=KE <е65Nд6ет=KE тD4=EDеDто6 длO поEледуNIе7о 
пDедоEт46ле=8O <е65Nд6ет=KE тD4=EDеDто6 87 5Nд6ето6 Eу5Jекто6  оEE89Eко9 $едеD4F88 
<еEт=K< 5Nд6ет4<. 

4. �D8 Dе4л874F88 <еDопD8Oт89 74 EGет EDедEт6 8=KE <е65Nд6ет=KE тD4=EDеDто6 87 
DедеD4лL=о7о 5Nд6ет4 5Nд6ет4< Eу5Jекто6  оEE89Eко9 $едеD4F88 8Eпол=8телL=K< оD74=о< 
7оEуд4DEт6е==о9 6л4Eт8 Eу5Jект4  оEE89Eко9 $едеD4F88, от6етEт6е==K< 74 Dе4л874F8N 
<еDопD8Oт89 =4 теDD8тоD88 Eоот6етEт6уNIе7о Eу5Jект4  оEE89Eко9 $едеD4F88 (д4лее - 

от6етEт6е==K9  О��), DоD<8DуетEO пеDеGе=L о5Jекто6 о5Iео5D47о64телL=KE оD74=874F89 8 
пеDеGе=L то64Dо6, 6 то< G8Eле о5оDудо64=8O 8 <4теD84ло6, пD8о5Dет4е<KE длO Dе4л874F88 
<еDопD8Oт89 по D4768т8N 8=DD4EтDуктуDK о5Jекто6 о5Iео5D47о64телL=KE оD74=874F89 (д4лее - 
8=DD4EтDуктуD=K9 л8Eт). 

5. �D8 DоD<8Dо64=88 пеDеG=е9 о5D47о64телL=KE оD74=874F89 уG8тK64NтEO: 
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оGеDед=оEтL о5еEпеGе=8O о5D47о64телL=KE оD74=874F89 8=теD=ет-Eоед8=е=8е< Eо 
EкоDоEтLN Eоед8=е=8O =е <е=ее 100 �5/E длO о5D47о64телL=KE оD74=874F89, D4Eполо6е==KE 6 
7оDод4E, 50 �5/E длO о5D47о64телL=KE оD74=874F89, D4Eполо6е==KE 6 EелLEко9 <еEт=оEт8 8 6 
поEелк4E 7оDодEко7о т8п4, 8 74D4=т8Dо64==K< 8=теD=ет-тD4D8ко< 6 D4<к4E Dе4л874F88 дDу78E 
Dе7улLт4то6 DедеD4лL=о7о пDоект4; 

поло6е=8O �етод8GеEк8E Dеко<е=д4F89 по 8=DоD<4F8о==о-телеко<<у=8к4F8о==о9 
8=DD4EтDуктуDе о5D47о64телL=KE оD74=874F89, =4пD46ле==KE 6 4дDеE оD74=о6 8Eпол=8телL=о9 
6л4Eт8 Eу5Jекто6  оEE89Eко9 $едеD4F88 п8EL<о< �8=ко<E6O78  оEE88 от 12 8NлO 2019 7. N О�-

�19-070-15601 (д4лее - Dеко<е=д4F88 �8=ко<E6O78  оEE88). 

6. !у5JектK  оEE89Eко9 $едеD4F88 ут6еD6д4Nт 8 =4пD46лONт пеDеGе=L о5Jекто6 
о5Iео5D47о64телL=KE оD74=874F89 6 �8=пDоE6еIе=8O  оEE88 6 теGе=8е 10 D45оG8E д=е9 E 
<о<е=т4 ут6еD6де=8O D4EпDеделе=8O 8=KE <е65Nд6ет=KE тD4=EDеDто6. 

7. �D8 DоD<8Dо64=88 8=DD4EтDуктуD=о7о л8Eт4 Eу5JектK  оEE89Eко9 $едеD4F88 дол6=K 
уG8тK64тL тDе5о64=8O де9Eт6уNIе7о 74ко=од4телLEт64, 6 то< G8Eле: 

о пDедоEт46ле=88 пD8оD8тет4 то64D4< DоEE89Eко7о пDо8EEо6де=8O 6 Eоот6етEт688 E 
пу=кто< 2.1 поEт4=о6ле=8O �D468телLEт64  оEE89Eко9 $едеD4F88 от 16 Eе=тO5DO 2016 7. N 925 "О 
пD8оD8тете то64Dо6 DоEE89Eко7о пDо8EEо6де=8O, D45от, уEлу7, 6Kпол=Oе<KE, ок47K64е<KE 
DоEE89Eк8<8 л8F4<8, по от=оHе=8N к то64D4<, пDо8EEодOI8< 87 8=оEтD4==о7о 7оEуд4DEт64, 
D45от4<, уEлу74<, 6Kпол=Oе<K<, ок47K64е<K< 8=оEтD4==K<8 л8F4<8"; 

о5 о7D4=8Gе=8OE =4 допуEк D4д8оMлектDо==о9 пDодукF88, пDо8EEодOIе9 87 8=оEтD4==KE 
7оEуд4DEт6, длO Fеле9 оEуIеEт6ле=8O 74купок длO о5еEпеGе=8O 7оEуд4DEт6е==KE 8 
<у=8F8п4лL=KE =у6д, уEт4=о6ле==Kе поEт4=о6ле=8е< �D468телLEт64  оEE89Eко9 $едеD4F88 от 
10 8NлO 2019 7. N 878 "О <еD4E Eт8<ул8Dо64=8O пDо876одEт64 D4д8оMлектDо==о9 пDодукF88 =4 
теDD8тоD88  оEE89Eко9 $едеD4F88 пD8 оEуIеEт6ле=88 74купок то64Dо6, D45от, уEлу7 длO 
о5еEпеGе=8O 7оEуд4DEт6е==KE 8 <у=8F8п4лL=KE =у6д, о 6=еEе=88 87<е=е=89 6 поEт4=о6ле=8е 
�D468телLEт64  оEE89Eко9 $едеD4F88 от 16 Eе=тO5DO 2016 7. N 925 8 пD87=4=88 утD4т86H8<8 E8лу 
=екотоDKE 4кто6 �D468телLEт64  оEE89Eко9 $едеD4F88"; 

о пD8<е=е=88 =4F8о=4лL=о7о Dе68<4 пD8 оEуIеEт6ле=88 74купок, уEт4=о6ле==Kе 
$едеD4лL=K< 74ко=о< от 5 4пDелO 2013 7. N 44-$� "О ко=тD4кт=о9 E8Eте<е 6 EDеDе 74купок 
то64Dо6, D45от, уEлу7 длO о5еEпеGе=8O 7оEуд4DEт6е==KE 8 <у=8F8п4лL=KE =у6д"; 

о5 уGете тDе5о64=89 4=т8<о=ополL=о7о 74ко=од4телLEт64 6 G4Eт8 о5еEпеGе=8O по6KHе=8O 
MDDект86=оEт8, 8EклNGе=8O о7D4=8Gе=8O кDу74 поEт46I8ко6 8 поEт46лOе<о7о о5оDудо64=8O, 
по6KHе=8O Dе7улLт4т86=оEт8 оEуIеEт6ле=8O 74купок, о5еEпеGе=8O пDо7D4G=оEт8, 
пDедот6D4Iе=8O коDDупF88 8 дDу78E 7лоупотDе5ле=89, 6 то< G8Eле пл4=8Dо64=8е =4G4лL=KE 
(<4кE8<4лL=KE) Fе= 8EEодO 87 DK=оG=KE Fе= то64Dо6 =4 оE=о64=88 4=4л874 =е <е=ее тDеE 
поEт46I8ко6 т4к8E то64Dо6 6 Eоот6етEт6уNIе< Eу5Jекте  оEE89Eко9 $едеD4F88. 

8. �=DD4EтDуктуD=K9 л8Eт Eу5Jект4  оEE89Eко9 $едеD4F88 DоD<8DуетEO =4 оE=о64=88 
оFе=к8 потDе5=оEт8 о5Jекто6 о5Iео5D47о64телL=KE оD74=874F89 6 оE=4Iе=88 8 (8л8) 
дооE=4Iе=88 то64D4<8, 6 то< G8Eле о5оDудо64=8е< 8 <4теD84л4<8 длO доEт86е=8O 6 к46до< 
о5Jекте Eо5лNде=8O тDе5о64=89: 

6 от=оHе=88 подпу=кто6 "4", "5", "д" 8 "е" пу=кт4 1 =4EтоOI8E �етод8GеEк8E Dеко<е=д4F89 
- уEт4=о6ле==KE Dеко<е=д4F8O<8 �8=ко<E6O78  оEE88; 

6 от=оHе=88 подпу=кто6 "6" 8 "7" пу=кт4 1 =4EтоOI8E �етод8GеEк8E Dеко<е=д4F88 - 

уEт4=о6ле==KE де9Eт6уNI8<8 Eт4=д4Dт4<8 (тDе5о64=8O<8), 6 то< G8Eле к 5е7оп4E=оEт8 о5Jекто6 
EоF84лL=о9 8=DD4EтDуктуDK, уEт4=о6ле==K<8 =оD<4т86=о-пD46о6K<8 4кт4<8, 4 т4к6е 
пD8ло6е=8O<8 к =4EтоOI8< �етод8GеEк8< Dеко<е=д4F8O<. 
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9. �=DD4EтDуктуD=K9 л8Eт Eу5Jект4  оEE89Eко9 $едеD4F88 DоD<8DуетEO E уGето< 
�D8<еD=о7о пеDеG=O то64Dо6, о5оDудо64=8O 8 <4теD84ло6, пD8о5Dет4е<KE длO Dе4л874F88 
<еDопD8Oт89 по D4768т8N 8=DD4EтDуктуDK о5Jекто6 о5Iео5D47о64телL=KE оD74=874F89, 
пD86еде==о7о 6 �D8ло6е=88 N 1 к =4EтоOI8< �етод8GеEк8< Dеко<е=д4F8O< (д4лее - 

пD8<еD=K9 пеDеGе=L). 

10. От6етEт6е==K9  О�� Eо7л4Eо6K64ет 8=DD4EтDуктуD=K9 л8Eт E 6едо<Eт6е==K< 
пDоект=K< оD8Eо< =4F8о=4лL=о7о пDоект4 "О5D47о64=8е" (DедеD4лL=K< 7оEуд4DEт6е==K< 
46то=о<=K< уGDе6де=8е< "$о=д =о6KE DоD< D4768т8O о5D47о64=8O") =е по7д=ее 10 
к4ле=д4D=KE д=е9 E д4тK ут6еD6де=8O пеDеG=O о5Jекто6 о5Iео5D47о64телL=KE оD74=874F89. 

11. �4купк4 то64Dо6, 6 то< G8Eле о5оDудо64=8O 8 <4теD84ло6, оEуIеEт6лOетEO Eу5Jект4<8 
 оEE89Eко9 $едеD4F88 6 Eоот6етEт688 E Eо7л4Eо64==K<8 6едо<Eт6е==K< пDоект=K< оD8Eо< 
=4F8о=4лL=о7о пDоект4 "О5D47о64=8е" 8=DD4EтDуктуD=K<8 л8Eт4<8. 

12. � FелOE у=8D8к4F88 8 о5еEпеGе=8O теE=оло78GеEко9 E6O74==оEт8 о5оDудо64=8O длO 
D4768т8O 8=DоD<4F8о==о-телеко<<у=8к4F8о==о9 8=DD4EтDуктуDK Eу5Jект4<  оEE89Eко9 
$едеD4F88 Dеко<е=дуетEO о5еEпеG864тL пDо6еде=8е Fе=тD4л87о64==KE 74купок длO 
о5D47о64телL=KE оD74=874F89 - полуG4теле9 о5оDудо64=8O E Eо5лNде=8е< тDе5о64=89 
де9Eт6уNIе7о 74ко=од4телLEт64. 

13.  е4л874F8O <еDопD8Oт89 оEуIеEт6лOетEO E уGето< EледуNI8E EDоко6: 

6 G4Eт8 пD8о5Dете=8O то64Dо6, 6 то< G8Eле о5оDудо64=8O 8 <4теD84ло6, 6 EлуG4е 
EоD8=4=E8Dо64=8O ук474==KE D4EEодо6 87 DедеD4лL=о7о 5Nд6ет4 путе< пDедоEт46ле=8O 8=KE 
<е65Nд6ет=KE тD4=EDеDто6 87 DедеD4лL=о7о 5Nд6ет4 - 6 EDок, опDеделOе<K9 Eо7л4Hе=8е< о 
пDедоEт46ле=88 8=KE <е65Nд6ет=KE тD4=EDеDто6 E уGето< де9Eт6уNI8E поло6е=89 
74ко=од4телLEт64  оEE89Eко9 $едеD4F88; 

6 G4Eт8 D45от (уEлу7), пDедуE<отDе==KE пу=кто< 7 �D468л пDедоEт46ле=8O 6 2019 7оду 8=KE 
<е65Nд6ет=KE тD4=EDеDто6 87 DедеD4лL=о7о 5Nд6ет4 5Nд6ет4< Eу5Jекто6  оEE89Eко9 
$едеD4F88 6 FелOE EоD8=4=E8Dо64=8O D4EEод=KE о5O74телLEт6 Eу5Jекто6  оEE89Eко9 $едеD4F88, 
6о7=8к4NI8E пD8 Dе4л874F88 Dе78о=4лL=KE пDоекто6, о5еEпеG864NI8E доEт86е=8е Fеле9, 
пок474теле9 8 Dе7улLт4т4 DедеD4лL=о7о пDоект4 "�=DоD<4F8о==4O 8=DD4EтDуктуD4" 
=4F8о=4лL=о9 пDо7D4<<K "&8DDо64O Mко=о<8к4  оEE89Eко9 $едеD4F88", ут6еD6де==KE 
поEт4=о6ле=8е< �D468телLEт64  оEE89Eко9 $едеD4F88 от 9 =оO5DO 2019 7од4 N 1438, - =е по7д=ее 
1 Eе=тO5DO 7од4, EледуNIе7о 74 7одо< пDедоEт46ле=8O 8=KE <е65Nд6ет=KE тD4=EDеDто6. 
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� О�К&� "��$О ��&�О���/ ��$ �!& 'К&' �" ��&�О��Л0�О� 

� О� ���/ "&�$ О��/ 1КО�О��К�  О!!��!КО� $��� �&��" 

 

N 

п/п 

�48<е=о64=8е 
то64D4 

$у=кF8о=4лL=Kе тDе5о64=8O, пD8<еD=Kе теE=8GеEк8е 
E4D4ктеD8Eт8к8 

1 (к4D 
телеко<<у=8к4F8о=
=K9, т8п 1 

(к4D телеко<<у=8к4F8о==K9 24U =4полL=K9 дол6е= 
Eоот6етEт6о64тL EледуNI8< теE=8GеEк8< тDе5о64=8O<: 
- H8D8=4 =е <е=ее 600 <<; 
- 7лу58=4 =е <е=ее 1000 <<; 
- Eтепе=L 74I8тK - IP20; 

- Hк4D =4полL=K9 телеко<<у=8к4F8о==K9 E5оD=K9; 
- пеDед=OO 8 74д=OO д6еD8 <ет4лл8GеEк8е од=оEт6оDG4тKе E 
74<ко<-DуGко9; 
- <4теD84л - Eолод=ок4т4=4O Eт4лL; 
- отделк4 по6еDE=оEт8 поDоHко6о9 кD4Eко9; 
- Dе7ул8Dуе<Kе =о6к8 длO 6KD46=864=8O =4 полу - 4 Hт.; 
- 6еDт8к4лL=Kе пDоD8л8 длO уEт4=о6к8 о5оDудо64=8O 19" - =е 
<е=ее 4 Hт.; 
- =4л8G8е к45елL=KE 66одо6; 
- 5лок Dо7еток 19" =е <е=ее Gе< =4 8 Dо7еток, E 6KклNG4теле< 8 
7=е7до< C14 под H=уD - =е <е=ее 1 Hт.; 
- полк4 Eт4F8о=4D=4O, кDепле=8е =4 4 тоGк8 - 2 Hт. 

2 (к4D 
телеко<<у=8к4F8о=
=K9 =4Eте==K9, т8п 2 

(к4D телеко<<у=8к4F8о==K9 =4Eте==K9 12U дол6е= 
Eоот6етEт6о64тL EледуNI8< теE=8GеEк8< тDе5о64=8O<: 
- H8D8=4 =е <е=ее 600 <<; 
- 7лу58=4 =е <е=ее 600 <<; 
- Eтепе=L 74I8тK - IP20; 

- Hк4D =4Eте==K9 телеко<<у=8к4F8о==K9, E5оD=K9 E 
Dе7ул8Dо6ко9 пDоD8ле9 по 7лу58=е; 
- о5оDудо64= д6еDко9; 
- к45елL=Kе 66одK E6еDEу 8 E=87у коDпуE4; 
- EJе<=Kе 5око6Kе п4=ел8 E 74<к4<8; 
- <4теD84л - Eолод=ок4т4=4O Eт4лL; 
- отделк4 по6еDE=оEт8 поDоHко6о9 кD4Eко9; 
- 5лок Dо7еток 19" =е <е=ее Gе< =4 8 Dо7еток E 6KклNG4теле<, 
7=е7до C14 под H=уD - 1 Hт.; 
- полк4 Eт4F8о=4D=4O, кDепле=8е =4 4 тоGк8 - =е <е=ее 2 Hт.; 
- кDепе6=K9 ко<плект - =4л8G8е. 

3 (к4D 
телеко<<у=8к4F8о=
=K9 =4полL=K9, т8п 
3 

(к4D телеко<<у=8к4F8о==K9 =4полL=K9 42U дол6е= 
Eоот6етEт6о64тL EледуNI8< тDе5о64=8O<: 
- H8D8=4 =е <е=ее 600 <<; 
- 7лу58=4 =е <е=ее 1000 <<; 
- Eтепе=L 74I8тK - IP20; 

- Hк4D =4полL=K9 телеко<<у=8к4F8о==K9 E5оD=K9; 
- пеDед=OO 8 74д=OO д6еD8 <ет4лл8GеEк8е од=оEт6оDG4тKе 
пеDDоD8Dо64==Kе E од=отоGеG=K< 74<ко<-DуGко9; 
- отделк4 по6еDE=оEт8 поDоHко6о9 кD4Eко9; 
- поEт46лOетEO 6 D47о5D4==о< 68де 6 7оDDок4Dто==о9 уп4ко6ке. 
Ко<плект=оEтL: 
- Dе7ул8Dуе<Kе =о6к8 длO 6KD46=864=8O =4 полу - 4 Hт.; 
- 19" 6еDт8к4лL=Kе пDоD8л8 длO уEт4=о6к8 о5оDудо64=8O - 4 Hт.; 



- к45елL=Kе 66одK E6еDEу 8 E=87у коDпуE4; 
- п4EпоDт 8 8=EтDукF8O по E5оDке E ко<плекто< кDепе64; 
- 5лок Dо7еток 19" =4 8 Dо7еток, 6KклNG4телL, 7=е7до C14 под 
H=уD - 1 Hт.; 
- полк4 Eт4F8о=4D=4O, кDепле=8е =4 4 тоGк8 - 2 Hт. 

4 �4=елL 
ко<<ут4F8о==4O 19" 

�4=елL ко<<ут4F8о==4O 19" 1U, 24xRJ45/u, Cat. 5e дол6=4 
Eоот6етEт6о64тL EледуNI8< тDе5о64=8O<: 
- кол8GеEт6о поDто6 RJ-45 - =е <е=ее 24; 
- т8п длO <о=т464 6 Eто9ку 19", E оD74=497еDо<; 
- 6KEот4, RU =е 5олее 1U. 

5 Ко<<ут4тоD, т8п 1 Ко<<ут4тоD 24-поDто6K9 дол6е= Eоот6етEт6о64тL EледуNI8< 
теE=8GеEк8< тDе5о64=8O<: 
- кол8GеEт6о поDто6 10/100/1000BASE-T (RJ-45) PoE/PoE+ - =е 
<е=ее 24; 
- кол8GеEт6о поDто6 10GBASE-R (SFP+)/1000BASE-X (SFP) - =е <е=ее 
4; 

- ко=EолL=K9 поDт RS-232/RJ-45; 

- пDопуEк=4O EпоEо5=оEтL, �58т/E - =е <е=ее 128; 
- пDо876од8телL=оEтL =4 п4кет4E дл8=о9 64 549т4, MPPS - =е 
<е=ее 93,1; 
- о5Jе< 5уDеD=о9 п4<Oт8, �549т - =е <е=ее 1,5; 
- о5Jе< О�' (DDR3), �549т - =е <е=ее 512; 
- о5Jе< ��' (RAW NAND), �549т - =е <е=ее 512; 
- т45л8F4 MAC-4дDеEо6 - =е <е=ее 16000; 
- к4GеEт6о о5Eлу6864=8O QoS; 
- <4кE8<4лL=K9 D47<еD ECMP-7Dупп - =е <е=ее 8; 
- L2 Multicast-7Dупп - =е <е=ее 2000; 
- т45л8F4 VLAN - =е <е=ее 4000; 
- Eтек8Dо64=8е до 8 уEтDо9Eт6; 
- поддеD6к4 E6еDEдл8==KE к4дDо6 (Jumbo Frames); 
- упD46ле=8е потоко< (IEEE 802.3X); 
- 7еDк4л8Dо64=8е поDто6 (Port Mirroring). 

6 Ко<<ут4тоD, т8п 2 Ко<<ут4тоD 48-поDто6K9 дол6е= Eоот6етEт6о64тL EледуNI8< 
теE=8GеEк8< тDе5о64=8O<: 
- кол8GеEт6о поDто6 10/100/1000BASE-T (RJ-45) PoE/PoE+ - =е 
<е=ее 48; 
- кол8GеEт6о поDто6 10GBASE-R (SFP+)/1000BASE-X (SFP) - =е <е=ее 
4; 

- ко=EолL=K9 поDт RS-232/RJ-45; 

- пDопуEк=4O EпоEо5=оEтL, �58т/E - =е <е=ее 176; 
- пDо876од8телL=оEтL =4 п4кет4E дл8=о9 64 549т4, MPPS - =е 
<е=ее 130,9; 
- о5Jе< 5уDеD=о9 п4<Oт8, �549т - =е <е=ее 3; 
- о5Jе< О�' (DDR3), �549т - =е <е=ее 512; 
- о5Jе< ��' (RAW NAND), �549т - =е <е=ее 512; 
- т45л8F4 MAC-4дDеEо6 - =е <е=ее 16000; 
- к4GеEт6о о5Eлу6864=8O QoS; 
- <4кE8<4лL=K9 D47<еD ECMP-7Dупп - =е <е=ее 8; 
- L2 Multicast-7Dупп - =е <е=ее 2000; 
- т45л8F4 VLAN - =е <е=ее 4000; 
- Eтек8Dо64=8е до 8 уEтDо9Eт6; 



- поддеD6к4 E6еDEдл8==KE к4дDо6 (Jumbo Frames); 
- упD46ле=8е потоко< (IEEE 802.3X); 
- 7еDк4л8Dо64=8е поDто6 (Port Mirroring). 

7 Ко<<ут4тоD, т8п 3 Ко<<ут4тоD 24-поDто6K9 дол6е= Eоот6етEт6о64тL EледуNI8< 
теE=8GеEк8< тDе5о64=8O<: 
- кол8GеEт6о поDто6 10/100/1000BASE-T (RJ-45) - =е <е=ее 24; 
- кол8GеEт6о поDто6 10GBASE-R (SFP+)/1000BASE-X (SFP) - =е <е=ее 
4; 

- ко=EолL=K9 поDт RS-232/RJ-45; 

- пDопуEк=4O EпоEо5=оEтL, �58т/E - =е <е=ее 128; 
- пDо876од8телL=оEтL =4 п4кет4E дл8=о9 64 549т4, MPPS - =е 
<е=ее 92,1; 
- о5Jе< 5уDеD=о9 п4<Oт8, �549т - =е <е=ее 1,5; 
- о5Jе< О�' (DDR3), �549т - =е <е=ее 512; 
- о5Jе< ��' (RAW NAND), �549т - =е <е=ее 512; 
- т45л8F4 MAC-4дDеEо6 - =е <е=ее 16000; 
- к4GеEт6о о5Eлу6864=8O QoS; 
- L2 Multicast-7Dупп - =е <е=ее 2000; 
- т45л8F4 VLAN - =е <е=ее 4000; 
- Eтек8Dо64=8е до 8 уEтDо9Eт6; 
- поддеD6к4 E6еDEдл8==KE к4дDо6 (Jumbo Frames); 
- 7еDк4л8Dо64=8е поDто6 (Port Mirroring). 

8 Ко<<ут4тоD, т8п 4 Ко<<ут4тоD 48-поDто6K9 дол6е= Eоот6етEт6о64тL EледуNI8< 
теE=8GеEк8< тDе5о64=8O<: 
- кол8GеEт6о поDто6 10/100/1000BASE-T (RJ-45) PoE/PoE+ - 48; 

- кол8GеEт6о поDто6 10GBASE-R (SFP+)/1000BASE-X(SFP) - 4; 

- 6 ко<плекте: опт8GеEк89 <одулL SFP WDM 3 km 1.25 GTx 1310 
=<, Rx 1550, LC, DDM - 4 Hт.; 
- ко=EолL=K9 поDт RS-232/RJ-45; 

- пDопуEк=4O EпоEо5=оEтL, �58т/E - 176; 

- пDо876од8телL=оEтL =4 п4кет4E дл8=о9 64 549т4, MPPS - 130,9; 

- о5Jе< 5уDеD=о9 п4<Oт8, �549т - 3; 

- о5Jе< О�' (DDR3), �549т - 512; 

- о5Jе< ��' (RAW NAND), �549т - 512; 

- т45л8F4 MAC-4дDеEо6 - 16000; 

- к4GеEт6о о5Eлу6864=8O QoS; 
- L2 Multicast-7Dупп - 2000; 

- т45л8F4 VLAN - 4000; 

- Eтек8Dо64=8е до 8 уEтDо9Eт6; 
- поддеD6к4 E6еDEдл8==KE к4дDо6 (Jumbo Frames); 
- 7еDк4л8Dо64=8е поDто6 (Port Mirroring). 

9 �одулL п8т4=8O длO 
ко<<ут4тоD4 

�одулL п8т4=8O 220V AC, 950W, Eо6<еEт8<K9 E ко<<ут4тоD4<8 
&8п 2 8 &8п 4 

10 Ко<<ут4тоD, т8п 5 Ко<<ут4тоD 8-поDто6K9 дол6е= Eоот6етEт6о64тL EледуNI8< 
тDе5о64=8O<: 
- 8 поDто6 Ethernet 10/100/1000Base-T E D47Jе<4<8 RJ-45 E 
поддеD6ко9 PoE/PoE+ (5Nд6ет <оI=оEт8 PoE =е <е=ее 240 �т); 
- 2 поDт4 1G E 6о7<о6=оEтLN уEт4=о6к8 тD4=E86еDо6 SFP 8 2 поDт4 
1G E D47Jе<4<8 RJ-45; 

- пDо876од8телL=оEтL дол6=4 5KтL =е <е=ее 24 �58т/E; 



- EкоDоEтL пеDед4G8 д4==KE длO MлектD8GеEк8E 8=теDDе9Eо6 
дол6=4 5KтL 10/100/1000 �58т/E, длO опт8GеEк8E 8=теDDе9Eо6 - 
1 �58т/E; 
- о5Jе< 5уDеD=о9 п4<Oт8 дол6е= 5KтL =е <е=ее 12 �58т; 
- дол6=4 поддеD6864тLEO 6о7<о6=оEтL о5Jед8=е=8O 6 Eтек до 8-

<8 уEтDо9Eт6; 
- поддеD6к4 D45отK 68Dту4лL=KE Eете9 VLAN - =е <е=ее 4000 
7=4Gе=89 8де=т8D8к4тоD4 68Dту4лL=о9 Eет8; 
- поддеD6к4 пеDед4G8 E6еDEдл8==KE к4дDо6 (Jumbo Frames) - 
<4кE8<4лL=K9 D47<еD п4кет4 - 10000 549т; 
- поддеD6к4 т45л8FK MAC-4дDеEо6 D47<еDо< =е <е=ее 16000 
74п8Eе9; 
- дол6=4 о5еEпеG864тLEO поддеD6к4 пD8оD8тето6 =4 оE=о6е 
DSCP; 

- поддеD6к4 пDотоколо6 OPSF, RIP, PIM-SM, Eт4т8GеEко9 
<4DHDут874F88; 
- поддеD6к4 4уте=т8D8к4F88 по пDотокол4< TACACS+ 8 RADIUS 
длO 4д<8=8EтD4т86=о7о доEтуп4; 
- поддеD6к4 6о7<о6=оEт8 упD46ле=8O GеDе7 ко=EолL=K9 поDт RS-

232, WEB-8=теDDе9E, пDотоколK Telnet, SSH, SNMP. 

11 !еD68E=K9 
<4DHDут874тоD, т8п 
1 

!еD68E=K9 <4DHDут874тоD дол6е= Eоот6етEт6о64тL EледуNI8< 
теE=8GеEк8< тDе5о64=8O<: 
- кол8GеEт6о поDто6 Combo 10/100/1000BASE-T/1000BASE-X - =е 
<е=ее 2; 
- кол8GеEт6о поDто6 Ethernet 10/100/1000BASE-T - =е <е=ее 2; 
- ко=EолL=K9 поDт RJ-45; 

- поDт USB 2.0; 
- поDт USB 3.0; 
- подклNG4е<Kе 8=теDDе9EK USB 3G/LTE-<оде< 8 E1 SFP; 
- EеD6еD VPN: L2TP, PPTP, OpenVPN; 
- VPN-кл8е=тK: L2TP, PPTP, PPPoE; 
- ту==ел8Dо64=8е: GRE, IPIP, L2TPv3, LT (inter VRF-lite routing); 

- Dу=кF88 L2 - ко<<ут4F8O п4кето6 (bridging); 
- Dу=кF88 L3 (IPv4/IPv6): IPv4 тD4=EлOF8O 4дDеEо6 SNAT, DNAT, 
Static NAT (толLко IPv4), ALG, Eт4т8GеEк8е <4DHDутK, 
д8=4<8GеEк8е пDотоколK <4DHDут874F88 RIPv2, OSPFv2, BGP, 
OSPFv3, VRF Lite, PBR, Prefix-List, BFD (толLко BGP, OSPF); 
- упD46ле=8е IP-4дDеE4F8е9 (IPv4/IPv6): Eт4т8GеEк8е 4дDеE4, DHCP-

кл8е=т, 6EтDое==K9 DHCP-EеD6еD (опF88 43, 60, 61, 150), DHCP 
Relay Option 82, DNS resolver, IP unnumbered; 

- к4GеEт6о о5Eлу6864=8O (QoS): L2 8 L3-пD8оD8т874F8O тD4D8к4 
(802.1p, DSCP, IP Precedence), упD46ле=8е пеDе7Dу7ко9 оGеDеде9 
RED, GRED, =47=4Gе=8е пD8оD8тето6 по поDт4<, VLAN, EDедEт64 
пеDе<4Dк8Dо64=8O пD8оD8тето6, пD8<е=е=8е пол8т8к, 
упD46ле=8е полоEо9 пDопуEк4=8O (shaping), 8еD4DE8GеEк89 QoS, 
<4Dк8Dо6к4 EеEE89. 

12 �4DHDут874тоD �4DHDут874тоD дол6е= Eоот6етEт6о64тL EледуNI8< теE=8GеEк8< 
тDе5о64=8O<: 
- дол6е= 8<етL 4 поDт4 Gigabit Ethernet д6о9=о7о =47=4Gе=8O, 
Eо6<еIе==Kе Eо Eлот4<8 длO уEт4=о6к8 SFP-тD4=E86еDо6 (combo-

поDтK); 



- дол6е= 8<етL =е <е=ее 1 поDт4 USB 2.0 8 =е <е=ее 1 поDт4 USB 
3.0; 

- EкоDоEтL пеDед4G8 д4==KE длO MлектD8GеEк8E 8=теDDе9Eо6 
дол6=4 5KтL 10/100/1000 �58т/E, длO опт8GеEк8E 8=теDDе9Eо6 - 
1 �58т/E; 
- о5Jе< опеD4т86=о9 п4<Oт8 <4DHDут874тоD4 дол6е= 5KтL =е 
<е=ее 4 �5; 
- о5Jе< DлMH-п4<Oт8 <4DHDут874тоD4 дол6е= 5KтL =е <е=ее 1 
�5; 
- дол6е= поддеD6864тL D45оту 68Dту4лL=KE Eете9 VLAN - 
Eо7л4E=о Eт4=д4Dту IEEE 802.1Q до 4000 4кт86=KE VLAN; 
- дол6е= поддеD6864тL пDотоколK Spanning Tree Eо7л4E=о 
Eт4=д4Dт4< IEEE 802.1d, IEEE 802.1s, IEEE 802.1w; 
- дол6е= поддеD6864тL пDотоколK 47Dе78Dо64=8O к4=4ло6 - LAG, 

LACP; 

- дол6е= поддеD6864тL Dу=кF8о=4л упD46ле=8O потоко< 
Eо7л4E=о IEEE 802.3x; 
- дол6е= поддеD6864тL Dу=кF8о=4л DHCP-EеD6еD4 8 DHCP-

кл8е=т4; 
- дол6е= поддеD6864тL Dу=кF8о=4л L2 8 L3-пD8оD8т874F88 
тD4D8к4 (802.1p, DSCP); 
- пDо876од8телL=оEтL L2-ко<<ут4F88 уEтDо9Eт64 дол6=4 5KтL =е 
<е=ее 3 �58т/E (длO 5олLH8E п4кето6); 
- пDо876од8телL=оEтL L3-<4DHDут874F88 уEтDо9Eт64 дол6=4 5KтL 
=е <е=ее 1 �58т/E; 
- дол6е= поддеD6864тL до 2000 L3-8=теDDе9Eо6; 
- дол6е= поддеD6864тL пеDед4Gу до 11 тKEOG Eт4т8GеEк8E 
<4DHDуто6; 
- дол6е= поддеD6864тL пDотокол RIPv2, кол8GеEт6о RIP-

<4DHDуто6 дол6=о 5KтL =е <е=ее 10 тKEOG; 
- дол6е= поддеD6864тL пDотокол OSPFv2/v3, кол8GеEт6о OSPF-

<4DHDуто6 дол6=о 5KтL =е <е=ее 300 тKEOG; 
- дол6е= поддеD6864тL пDотокол BGP, кол8GеEт6о BGP-

<4DHDуто6 дол6=о 5KтL =е <е=ее 1,2 <8лл8о=о6; 
- дол6е= поддеD6864тL пDотокол NAT, пDо876од8телL=оEтL NAT 
дол6=4 5KтL =е <е=ее 0,9 �58т/E (длO 5олLH8E п4кето6); 
- дол6е= поддеD6864тL Dу=кF8о=4л MultiWAN: per-flow 

<4DHDут874F8O; 
- дол6е= поддеD6864тL Dу=кF8о=4л VRF-lite (6клNG4O поддеD6ку 
BGP, OSPF, QoS; упD46ле=8е <4DHDут874тоDо< - AAA, Telnet, SSH, 

SNMP, Syslog, ко<4=д4 copy; поддеD6ку NTP 8 GRE ту==еле9); 
- дол6е= поддеD6864тL Dу=кF8о=4л Firewall, пDо876од8телL=оEтL 
Firewall дол6=4 5KтL =е <е=ее 0,9 �58т/E (длO 5олLH8E п4кето6); 
- дол6е= поддеD6864тL EледуNI8е пDотоколK ту==ел8Dо64=8O 
тD4D8к4: GRE, IPv4-IPv4, L2TPv3, IPsec (6клNG4O поддеD6ку 
пDотокол4 DES, полуGе=8е опеD4т86=о9 8=DоD<4F88), L2TP, PPTP, 
OpenVPN; 

- пDо876од8телL=оEтL IPsec VPN-<4DHDут874тоD4 дол6=4 5KтL =е 
<е=ее 0,5 �58т/E (длO 5олLH8E п4кето6); 
- дол6е= поддеD6864тL 6о7<о6=оEтL упD46ле=8O GеDе7 CLI, 
Telnet, SSH; 

- дол6е= поддеD6864тL пDотокол VRRP (6клNG4O поддеD6ку 
6еDE88 3, поддеD6ку ко=D87уD8Dо64=8O GARP Master п4D4<етDо6, 



6о7<о6=оEтL од=о6Dе<е==о7о ко=D87уD8Dо64=8O до 8 Virtual IP 
=4 пDоFеEE). 

13 !еD68E=K9 
<4DHDут874тоD, т8п 
2 

!еD68E=K9 <4DHDут874тоD дол6е= Eоот6етEт6о64тL EледуNI8< 
теE=8GеEк8< тDе5о64=8O<: 
- дол6е= 8<етL 4 поDт4 10/100/1000Base-T E D47Jе<4<8 RJ-45, 2 

поDт4 1G E 6о7<о6=оEтLN уEт4=о6к8 тD4=E86еDо6 SFP; 
- дол6е= 8<етL =е <е=ее 2 поDто6 USB 2.0; 
- EкоDоEтL пеDед4G8 д4==KE длO MлектD8GеEк8E 8=теDDе9Eо6 
дол6=4 5KтL 10/100/1000 �58т/E, длO опт8GеEк8E 8=теDDе9Eо6 - 
1 �58т/E; 
- о5Jе< опеD4т86=о9 п4<Oт8 <4DHDут874тоD4 дол6е= 5KтL =е 
<е=ее 0,5 �5; 
- о5Jе< DлMH п4<Oт8 <4DHDут874тоD4 дол6е= 5KтL =е <е=ее 0,5 
�5; 
- дол6е= поддеD6864тL D45оту 68Dту4лL=KE Eете9 VLAN - 
Eо7л4E=о Eт4=д4Dту IEEE 802.1Q до 4000 4кт86=KE VLAN; 
- дол6е= поддеD6864тL пDотоколK 47Dе78Dо64=8O к4=4ло6 - LAG, 

LACP; 

- дол6е= поддеD6864тL Dу=кF8о=4л упD46ле=8O потоко< 
Eо7л4E=о IEEE 802.3x; 
- дол6е= поддеD6864тL Dу=кF8о=4л DHCP-EеD6еD4 8 DHCP-

кл8е=т4; 
- дол6е= поддеD6864тL Dу=кF8о=4л L2 8 L3-пD8оD8те74F88 
тD4D8к4 (802.1p, DSCP); 
- пDо876од8телL=оEтL L2-ко<<ут4F88 уEтDо9Eт64 дол6=4 5KтL =е 
<е=ее 0,6 �58т/E (длO 5олLH8E п4кето6); 
- пDо876од8телL=оEтL L3-<4DHDут874F88 уEтDо9Eт64 дол6=4 5KтL 
=е <е=ее 0,6 �58т/E; 
- дол6е= поддеD6864тL пеDед4Gу до 1 тKEOG8 Eт4т8GеEк8E 
<4DHDуто6; 
- дол6е= поддеD6864тL пDотокол RIPv2, кол8GеEт6о RIP-

<4DHDуто6 дол6=о 5KтL =е <е=ее 1 тKEOG8; 
- дол6е= поддеD6864тL пDотокол OSPFv2/v3, кол8GеEт6о OSPF-

<4DHDуто6 дол6=о 5KтL =е <е=ее 30 тKEOG; 
- дол6е= поддеD6864тL пDотокол BGP, кол8GеEт6о BGP-

<4DHDуто6 дол6=о 5KтL =е <е=ее 100 тKEOG; 
- дол6е= поддеD6864тL пDотокол NAT, пDо876од8телL=оEтL NAT 
дол6=4 5KтL =е <е=ее 0,6 �58т/E (длO 5олLH8E п4кето6); 
- дол6е= поддеD6864тL Dу=кF8о=4л VRF-lite (6клNG4O поддеD6ку 
BGP, OSPF, QoS; упD46ле=8е <4DHDут874тоDо< - AAA, Telnet, SSH, 

SNMP, Syslog, ко<4=д4 copy; поддеD6ку NTP 8 GRE ту==еле9); 
- дол6е= поддеD6864тL Dу=кF8о=4л Firewall, пDо876од8телL=оEтL 
Firewall дол6=4 5KтL =е <е=ее 0,6 �58т/E (длO 5олLH8E п4кето6); 
- дол6е= поддеD6864тL EледуNI8е пDотоколK ту==ел8Dо64=8O 
тD4D8к4: GRE, IPv4-IPv4, L2TPv3, IPsec (6клNG4O поддеD6ку 
пDотокол4 DES, полуGе=8е опеD4т86=о9 8=DоD<4F88), L2TP, PPTP, 
OpenVPN; 

- дол6е= поддеD6864тL 6о7<о6=оEтL упD46ле=8O GеDе7 CLI, 
Telnet, SSH; 

- дол6е= поддеD6864тL пDотокол VRRP (6клNG4O поддеD6ку 
6еDE88 3, поддеD6ку ко=D87уD8Dо64=8O GARP Master п4D4<етDо6, 
6о7<о6=оEтL од=о6Dе<е==о7о ко=D87уD8Dо64=8O до 8 Virtual IP 



=4 пDоFеEE). 

14 Ко<<ут4тоD, т8п 6 Ко<<ут4тоD дол6е= Eоот6етEт6о64тL EледуNI8< теE=8GеEк8< 
тDе5о64=8O<: 
- дол6е= 8<етL =е <е=ее 48 поDто6 Ethernet 10/100/1000Base-T E 
D47Jе<4<8 RJ-45; 

- дол6е= 8<етL =е <е=ее 4 поDто6 10GBASE-R (SFP+)/1000BASE-X 

(SFP); 

- пDопуEк=4O EпоEо5=оEтL ко<<ут4тоD4 дол6=4 5KтL =е <е=ее 176 
�58т/E; 
- пDо876од8телL=оEтL ко<<ут4тоD4 (=4 п4кет4E дл8=о9 64 549т4) 
дол6=4 5KтL =е <е=ее 130 <л= п4кето6 6 Eеку=ду; 
- о5Jе< О�' =4 ко<<ут4тоDе дол6е= 5KтL =е <е=ее 512 �549т; 
- т45л8F4 MAC-4дDеEо6 ко<<ут4тоD4 дол6=4 5KтL =е <е=ее 16 
тKE. 74п8Eе9; 
- дол6е= поддеD6864тL =е <е=ее 4 тKE. 4кт86=KE VLAN; 
- дол6е= поддеD6864тL =е <е=ее 2 тKE. L2 multicast-7Dупп; 
- дол6е= поддеD6864тL 6о7<о6=оEтL Eо7д4=8O Link Aggregation 
Groups (LAG) - =е <е=ее 16 7Dупп, до 8 поDто6 6 од=о< LAG; 
- дол6е= поддеD6864тL Jumbo-DDе9<K E <4кE8<4лL=K< 
D47<еDо< п4кето6 =е <е=ее 10 тKE. 549т; 
- дол6е= поддеD6864тL 6о7<о6=оEтL Eтек8Dо64=8O - =е <е=ее 8 
уEтDо9Eт6 6 Eтеке; 
- дол6е= поддеD6864тL Dу=кF8о=4л Voice VLAN, 802.1Q, Selective 

Q-in-Q, GVRP; 

- дол6е= поддеD6864тL Dу=кF8о=4л IGMP Snooping (v1, 2, 3), 
IGMP Querier, поддеD6к4 46тоD874F88 IGMP GеDе7 RADIUS; 
- дол6е= поддеD6864тL пDотоколK STP, RSTP, MSTP, STP 
Multiprocess, PVSTP+; 

- дол6е= поддеD6864тL EледуNI8е Dу=кF88 L3: Eт4т8GеEк8е IP-

<4DHDутK, пDотоколK <4DHDут874F88 RIPv2, OSPFv2, OSPFv3, 
пDотокол VRRP, пDотоколK PIM SM, PIM DM, IGMP Proxy; 
- дол6е= поддеD6864тL Dу=кF88 DHCP snooping, опF8O 82 
пDотокол4 DHCP, Dynamic ARP Inspection, E8Eте<4 
пDедот6D4Iе=8O DoS-4т4к, PPPoE Intermediate agent; 
- дол6е= поддеD6864тL Dу=кF8о=4л ACL; 
- дол6е= поддеD6864тL EледуNI8е Dу=кF88 упD46ле=8O: 
8=теDDе9E ко<4=д=о9 EтDок8 (CLI), WEB-8=теDDе9E, Syslog, SNTP, 
кл8е=т RADIUS, TACACS+, EеD6еD SSH. 

15 Ко=тDоллеD 
5еEпDо6од=о9 Eет8 

Ко=тDоллеD 5еEпDо6од=о9 Eет8 (=е <е=ее RAM 16 Gb, CPUx4, HDD 
500 Gb) дол6е= Eоот6етEт6о64тL EледуNI8< тDе5о64=8O<: 
- упD46ле=8е 8 <о=8тоD8=7 Eете6о7о о5оDудо64=8O Wi-Fi; 

- оD74=874F8O Hotspot E поDт4лL=о9 46тоD874F8е9, 6 D4<к4E 

котоDо9 6о7<о6=K: 
- 5Dе=д8Dо64=8е д8749=4 поDт4л4 Eо7л4E=о тDе5о64=8O< 
74к47G8к4, 
- 6о7<о6=оEтL 8=те7D4F88 E 6=еH=8< Active Directory, 
- пDедоEт46ле=8е ко=еG=о<у кл8е=ту WEB-8=EтDу<е=т4 по 
упD46ле=8N уEлу7о9, E4<оEтоOтелL=о<у 5Dе=д8Dо64=8N 
поDт4л4 8 Eо7д4=8N уGет=KE 74п8Eе9 полL7о64теле9; 

- оD74=874F8O D4Eп8E4=8O D45отK SSID. 

16 &оGк4 5еEпDо6од=о7о &оGк4 5еEпDо6од=о7о доEтуп4 дол6=4 Eоот6етEт6о64тL 



доEтуп4 EледуNI8< теE=8GеEк8< тDе5о64=8O<: 
- кол8GеEт6о поDто6 Ethernet 10/100/1000 Base-T, RJ-45 - 1 Hт.; 
- ко=EолL=K9 поDт RJ-45; 

- о5Jе< NAND Flash, �� - =е <е=ее 128; 
- о5Jе< RAM DDR3, �� - =е <е=ее 256; 
- п8т4=8е: PoE+ 48B/54B (IEEE 802.3at-2009); 

- 6о7<о6=оEт8 WLAN: поддеD6к4 Eт4=д4Dто6 IEEE 
802.11a/b/g/n/ac, 47Dе74F8O д4==KE, 6клNG4O A-MPDU (Tx/Rx) 8 A-

MSDU (Rx), пD8оD8тетK 8 пл4=8Dо64=8е п4кето6 =4 оE=о6е WMM, 
д8=4<8GеEк89 6K5оD G4EтотK (DFS), поддеD6к4 EкDKто7о SSID, 32 
68Dту4лL=Kе тоGк8 доEтуп4, о5=4Dу6е=8е EтоDо==8E тоGек 
доEтуп4, поддеD6к4 APSD, поддеD6к4 WDS; 
- Eете6Kе Dу=кF88: 46то<4т8GеEкое Eо7л4Eо64=8е EкоDоEт8, 
дуплекE=о7о Dе68<4 8 пеDеклNGе=8O <е6ду Dе68<4<8 MDI 8 
MDI-X, поддеD6к4 VLAN, поддеD6к4 4уте=т8D8к4F88 802.1X, 
DHCP-кл8е=т, поддеD6к4 LLDP, поддеD6к4 ACL, поддеD6к4 IPv6; 
- D45от4 6 Dе68<е кл4EтеD4: оD74=874F8O кл4EтеD4 е<коEтLN до 
64 тоGек доEтуп4, 54л4=E8Dо6к4 =47Dу7к8 <е6ду тоGк4<8 доEтуп4, 
46то<4т8GеEк4O E8=EDо=874F8O ко=D87уD4F89 тоGек доEтуп4 6 
кл4EтеDе, Single Management IP - ед8=K9 4дDеE длO упD46ле=8O 
тоGк4<8 доEтуп4 6 кл4EтеDе, 46то<4т8GеEкое D4EпDеделе=8е 
G4Eтот=KE к4=4ло6 <е6ду тоGк4<8 доEтуп4, 4уте=т8D8к4F8O GеDе7 
RADIUS-EеD6еD; 
- Dу=кF88 QoS: пD8оD8тет 8 пл4=8Dо64=8е п4кето6 =4 оE=о6е 
пDоD8ле9, о7D4=8Gе=8е пDопуEк=о9 EпоEо5=оEт8 длO к46до7о 
SSID, 87<е=е=8е п4D4<етDо6 WMM длO к46до7о 
D4д8о8=теDDе9E4; 
- п4D4<етDK 5еEпDо6од=о7о 8=теDDе9E4: G4Eтот=K9 д84п47о= 
2400 - 2480 ��F, 5150 - 5850 ��F, <одулOF8O CCK, BPSK, QPSK, 
16QAM, 64QAM, 256QAM, 6=утDе==8е 6Eе=4пD46ле==Kе 4=те==K, 
поддеD6к4 2 x 2 MIMO (IEEE 802.11a/n/ac) 8 (IEEE 802.11b/g/n); 
- ко=D87уD8Dо64=8е: о5=о6ле=8е �О 8 ко=D87уD8Dо64=8е 
поEDедEт6о< DHCP Autoprovisioning, уд4ле==ое упD46ле=8е по 
Telnet, SSH, Web-8=теDDе9E, SNMP. 

17 &оGк4 доEтуп4, т8п 1 &оGк4 доEтуп4 дол6=4 Eоот6етEт6о64тL EледуNI8< теE=8GеEк8< 
тDе5о64=8O<: 
- поддеD6к4 Eт4=д4Dто6 IEEE 802.11a/b/g/n/ac/r; 
- кол8GеEт6о 8=теDDе9Eо6 Ethernet 10/100/1000 Base-T (RJ-45) - =е 
<е=ее 2; 
- Console (RJ-45); 

- 47Dе74F8O д4==KE, 6клNG4O A-MPDU (Tx/Rx) 8 A-MSDU (Rx); 

- пD8оD8тетK 8 пл4=8Dо64=8е п4кето6 =4 оE=о6е WMM; 
- д8=4<8GеEк89 6K5оD G4EтотK (DFS); 
- поддеD6к4 EкDKто7о SSID; 
- поддеD6к4 од=о9 тоGко9 доEтуп4 од=о6Dе<е==о9 D45отK 
68Dту4лL=KE тоGек доEтуп4 6 д6уE д84п47о=4E E D47л8G=K<8 SSID 
8 т8п4<8 46тоD874F88 - =е <е=ее 32; 
- о5=4Dу6е=8е EтоDо==8E тоGек доEтуп4; 
- поддеD6к4 APSD; 
- поддеD6к4 WDS; 
- поддеD6к4 VLAN; 
- 46то<4т8GеEкое Eо7л4Eо64=8е EкоDоEт8, дуплекE=о7о Dе68<4 8 



пеDеклNGе=8O <е6ду Dе68<4<8 MDI 8 MDI-X; 

- поддеD6к4 4уте=т8D8к4F88 802.1X; 
- поддеD6к4 4уте=т8D8к4F88 802.11i поEDедEт6о< уEт4=о6к8 =4 
уEтDо9Eт64 D47DеHе==KE полL7о64теле9 (E О! Windows, Android, 
IOS) EеDт8D8к4то6 пDо6еDк8 подл8==оEт8; 
- поддеD6к4 DHCP-кл8е=т4; 
- поддеD6к4 IPv6; 
- поддеD6к4 LLDP; 
- поддеD6к4 ACL; 
- е<коEтL кл4EтеD4 (5е7 6Kделе==о7о ко=тDоллеD4 упD46ле=8O) - 
=е <е=ее 64; 
- 46то<4т8GеEк4O E8=EDо=874F8O ко=D87уD4F89 тоGек доEтуп4 6 
кл4EтеDе; 
- 54л4=E8Dо6к4 =47Dу7к8 <е6ду тоGк4<8 доEтуп4; 
- ед8=K9 4дDеE длO упD46ле=8O тоGк4<8 доEтуп4 6 кл4EтеDе; 
- 46то<4т8GеEкое D4EпDеделе=8е G4Eтот=KE к4=4ло6 <е6ду 
тоGк4<8 доEтуп4; 
- пD8оD8тет 8 пл4=8Dо64=8е п4кето6 =4 оE=о6е пDоD8ле9; 
- о7D4=8Gе=8е пDопуEк=о9 EпоEо5=оEт8 длO к46до7о SSID; 
- 87<е=е=8е п4D4<етDо6 WMM длO D4д8о8=теDDе9E4; 
- Fе=тD4л87о64==4O 46тоD874F8O GеDе7 RADIUS-EеD6еD (WPA 
Enterprise); 

- H8DDо64=8е д4==KE WPA/WPA2; 
- поддеD6к4 Captive Portal; 
- 8=DоD<8Dо64=8е о E8Eте<=KE Eо5Kт8OE поEDедEт6о< e-mail; 

- поддеD6864е<K9 G4Eтот=K9 д84п47о= 2412 - 2472 ��F, 4900 - 
5850 ��F; 
- <одулOF8O CCK, BPSK, QPSK, 16QAM, 64QAM, 256QAM; 
- 6=утDе==8е д6уEд84п47о==Kе 4=те==K; 
- поддеD6к4 3 x 3 MIMO; 
- д64 =е7468E8<KE D4д8о8=теDDе9E4; 
- потDе5лOе<4O <оI=оEтL =е 5олее 14 �т; 
- п8т4=8е PoE+ 8 DC 48/54 8 12 DC �; 
- D45оG4O те<пеD4туD4, <8=8<4лL=ое 7=4Gе=8е - +5 °C; 
- D45оG4O те<пеD4туD4, <4кE8<4лL=ое 7=4Gе=8е - +40 °C; 
- уд4ле==ое упD46ле=8е по Telnet 8 SSH; 

- web-8=теDDе9E; 
- поддеD6к4 SNMP; 
- Airtime Firness (поддеD6к4 E54л4=E8Dо64==о7о D4EпDеделе=8O 
D4д8оG4Eтот=о7о DеEуDE4 <е6ду полL7о64телO<8); 
- 6EтDое==K9 http-proxy; 

- 6EтDое==K9 EпектDо4=4л874тоD; 
- 6о7<о6=оEтL к4Eк4д=о7о Eоед8=е=8O; 
- Multicast Forwarding (тD4=EлOF8O <улLт8к4Eто6о7о тD4D8к4 6 
N=8к4Eт); 
- DHCP snooping E 6о7<о6=оEтLN подEт4=о6к8 опF88 82. 

18 !8Eте<4 
68део=45лNде=8O E 
ко<пLNтеD=K< 
7Dе=8е<, т8п 1 

!8Eте<4 68део=45лNде=8O дол6=4 Eоот6етEт6о64тL EледуNI8< 
тDе5о64=8O<: 
- EеD6еD E8Eте<K 68део=45лNде=8O E E4D4ктеD8Eт8к4<8 =е =86е: 
4-OдеD=K9 пDоFеEEоD (3,4 ��F, О�' 16 �5, HDD 2 x 1000 �� 2 x 3000 
��, 2xLAN, д8EкDет=K9 68део4д4птеD E о5Jе<о< 68деоп4<Oт8 4 
Gb), кл4684туD4, <KHL, E4л47к8 19", коDпуE 6 Eто9ку 19" 4U, 64-



58т=4O опеD4F8о==4O E8Eте<4 E 7D4D8GеEк8< 8=теDDе9Eо<; 
- 6Dе<O ED4=е=8O 68део4DE864 10 к4<еD E D47DеHе=8е< до 720p, 
30 к/E - =е <е=ее 7 Eуток; 
- Dе78EтD4F8O 8 74п8EL 68деопотоко6 - =е <е=ее 10 Hт. 

19 !8Eте<4 
68део=45лNде=8O E 
ко<пLNтеD=K< 
7Dе=8е<, т8п 2 

!8Eте<4 68део=45лNде=8O дол6=4 Eоот6етEт6о64тL EледуNI8< 
тDе5о64=8O<: 
- EеD6еD E8Eте<K 68део=45лNде=8O E E4D4ктеD8Eт8к4<8 =е =86е: 
4-OдеD=K9 пDоFеEEоD (3,4 ��F, О�' 16 �5, HDD 2 x 1000 �� 4 x 4000 
��, 2xLAN, д8EкDет=K9 68део4д4птеD E о5Jе<о< 68деоп4<Oт8 4 
Gb), кл4684туD4, <KHL, E4л47к8 19", коDпуE 6 Eто9ку 19" 4U, 64-

58т=4O опеD4F8о==4O E8Eте<4 E 7D4D8GеEк8< 8=теDDе9Eо<; 
- 6Dе<O ED4=е=8O 68део4DE864 10 к4<еD E D47DеHе=8е< до 720p, 
30 к/E - =е <е=ее 30 Eуток; 
- Dе78EтD4F8O 8 74п8EL 68деопотоко6 - =е <е=ее 10 Hт. 

20 �8деок4<еD4 87 
EоEт464 E8Eте<K 
68део=45лNде=8O E 
ко<пLNтеD=K< 
7Dе=8е<, т8п 1 

�8деок4<еD4 =4Dу6=о7о <о=т464 дол6=4 Eоот6етEт6о64тL 
EледуNI8< теE=8GеEк8< тDе5о64=8O<: 
- Eе=EоD, 5 �п, 1/2.8" К�О� <4тD8F4 E пDо7DеEE86=о9 D476еDтко9; 
- Gу6Eт68телL=оEтL F6.: 0.005 лк (F1.2, 46тоуE8ле=8е 6кл.); '/�: 0 лк 
(�К 6кл.); 
- EкоDоEтL 74т6оD4 - 1/100000 ~ 1 E.; 
- о5Jект86 - 3,6 <<; 
- у7ол о57оD4 о5Jект864 - 82°/60°; 
- <4кE8<4лL=ое D47DеHе=8е: 

- пеD6K9 поток: 2592 x 1944, 
- 6тоDо9 поток: 704 x 576, 

- тDет89 поток: 1920 x 1080; 
- <4кE8<4лL=4O G4Eтот4 к4дDо6 - 20 к4дD/E пD8 2592 x 1944 п8кE; 
30 к4дD/E длO 6EеE оEт4лL=KE D47DеHе=89; 
- 58тDе9т 68деоE87=4л4 16 К58т/E ~ 16 �58т/E (CBR/VBR, 
=4EтD4864е<K9); 
- кодек E64т8O 68део H.265+/H.265(HEVC)/H.264+/H.264/MJPEG; 

- Eете6Kе пDотоколK IPv4/IPv6, TCP, UDP, RTP, RTSP, RTCP, HTTP, 
HTTPS, DNS, DDNS, DHCP, FTP, NTP, SMTP, SNMP, UPnP, SIP, PPPoE, 

VLAN, 802.1x, QoS, IGMP, ICMP, SSL; 

- Eо6<еEт8<оEтL ONVIF Profle S; 
- тDе6о78 - детекF8O д686е=8O, Eете64O оH85к4; 
- 6Kпол=Oе<Kе по Eо5Kт8N де9Eт68O: 

- 74п8EL 68део =4 SD, 
- 74п8EL 68део FTP, 
- отпD46к4 Dото по SMTP, 
- HTTP-у6едо<ле=8е; 

- 6о7<о6=оEтL уд4ле==о9 E<е=K �О; 
- F8DDо64O Eт458л874F8O 87о5D46е=8O, <4Eк4 пD864т=оEт8, 
D8лLтD4F8O IP-4дDеEо6 BLC, HLC, ROI, Ant-fog, WDR; 

- Eете6о9 8=теDDе9E 1 RJ45 10M/100M Ethernet; 
- Eлот длO к4Dт п4<Oт8 Micro SD до 128 �5; 
- д4лL=оEтL �К-подE6етк8 - до 30 <; 
- 74I8т4 IP67; 
- Eтепе=L 64=д4ло74I8Iе==оEт8 IK10; 
- D45оG8е уEло68O - -40 °C ... +60 °C, 6л46=оEтL 0 - 90% (5е7 
ко=де=E8Dо64=8O); 



- п8т4=8е PoE (802.3af); 
- потDе5ле=8е 5,5 �т. 

21 �8деок4<еD4 87 
EоEт464 E8Eте<K 
68део=45лNде=8O E 
ко<пLNтеD=K< 
7Dе=8е<, т8п 2 

�8деок4<еD4 6=утD8о5Jект=о7о <о=т464 дол6=4 Eоот6етEт6о64тL 
EледуNI8< теE=8GеEк8< тDе5о64=8O<: 
- Eе=EоD 5 �п, 1/2.8" К�О�-<4тD8F4 E пDо7DеEE86=о9 D476еDтко9; 
- Gу6Eт68телL=оEтL F6.: 0.005 лк (F1.2, 46тоуE8ле=8е 6кл.); '/�: 0 лк 
(�К 6кл.); 
- EкоDоEтL 74т6оD4 - 1/100000 ~ 1 E.; 
- о5Jект86 - 3,6 <<; 
- у7ол о57оD4 о5Jект864 - 80°/59°; 
- <4кE8<4лL=ое D47DеHе=8е: 

- пеD6K9 поток: 2592 x 1944, 
- 6тоDо9 поток: 704 x 576, 
- тDет89 поток: 1920 x 1080; 

- <4кE8<4лL=4O G4Eтот4 к4дDо6 - 20 к4дD/E пD8 2592 x 1944 п8кE; 
30 к4дD/E длO 6EеE оEт4лL=KE D47DеHе=89; 
- 58тDе9т 68деоE87=4л4 16 К58т/E ~ 16 �58т/E (CBR/VBR, 
=4EтD4864е<K9); 
- кодек E64т8O 68део H.265+/H.265(HEVC)/H.264+/H.264/MJPEG; 
- Eете6Kе пDотоколK IPv4/IPv6, TCP, UDP, RTP, RTSP, RTCP, HTTP, 

HTTPS, DNS, DDNS, DHCP, FTP, NTP, SMTP, SNMP, UPnP, SIP, PPPoE, 

VLAN, 802.1x, QoS, IGMP, ICMP, SSL; 

- Eо6<еEт8<оEтL ONVIF Profle S; 
- тDе6о78 - детекF8O д686е=8O, потеDO Eете6о7о подклNGе=8O; 
- 6Kпол=Oе<Kе по Eо5Kт8N де9Eт68O: 

- 74п8EL 68део =4 SD, 
- 74п8EL 68део FTP, 
- отпD46к4 Dото по SMTP, 
- HTTP-у6едо<ле=8е; 

- допол=8телL=Kе Dу=кF88: F8DDо64O Eт458л874F8O 
87о5D46е=8O, <4Eк4 пD864т=оEт8, BLC, HLC, ROI, Ant-fog, WDR; 

- Eете6о9 8=теDDе9E 1 RJ45 10M/100M Ethernet; 
- Eлот длO к4Dт п4<Oт8 Micro SD до 128 �5; 
- 6EтDое==K9 <8кDоDо=; 
- д4лL=оEтL �К-подE6етк8 - до 25 <; 
- 74I8т4 IP67; 
- Eтепе=L 64=д4ло74I8Iе==оEт8 IK10; 
- D45оG8е уEло68O - -40 °C ... +60 °C, 6л46=оEтL 0 - 90% (5е7 
ко=де=E8Dо64=8O); 
- п8т4=8е PoE (802.3af); 
- потDе5ле=8е 5,5 �т. 

22 !8Eте<4 упD46ле=8O 
8 ко=тDолO доEтуп4 
(!К'�). 
&уD=8кет "&D8под" 

&уD=8кет дол6е= Eоот6етEт6о64тL EледуNI8< теE=8GеEк8< 
тDе5о64=8O<: 
- <4теD84л - Eт4лL; 
- H8D8=4 7о=K пDоEод4 - <8=8<у< 500 <<, <4кE8<у< 650 <<; 
- Eтепе=L 74I8тK о5олоGк8 IP - =е =86е IP40; 
- пDопуEк=4O EпоEо5=оEтL - =е =86е 30 Gел./<8=; 
- Dе68< "4=т8п4=8к4" - =4л8G8е; 
- 8=теDDе9E упD46ле=8O - EуEо9 ко=т4кт; 
- 6EтDое==4O 8=д8к4F8O Dе68<о6 D45отK - еEтL. 

23 �D8е<=8к длO к4Dт - К4DтопD8е<=8к дол6е= Eоот6етEт6о64тL EледуNI8< теE=8GеEк8< 



к4DтопD8е<=8к тDе5о64=8O<: 
- дол6е= 5KтL пDед=47=4Gе= длO D45отK 6 EоEт46е !К'� 6 
к4GеEт6е уEтDо9Eт64 пD8е<4, ED4=е=8O 8 EG8тK64=8O к4Dт доEтуп4; 
- дол6=о 5KтL пDедуE<отDе=о пD8е<=о-=4коп8телL=ое 
уEтDо9Eт6о, пDед=47=4Gе==ое длO ко=тDолO 6Eод4/6KEод4 
поEет8телO GеDе7 пDоEод=уN E д4лL=е9H8< 6о76D4то< 7оEте6KE 
к4Dт; 
- уEтDо9Eт6о D8кE4F88 D4кт4 87JOт8O к4Dт дол6=о 5KтL E=456е=о 
опт8GеEк8<8 д4тG8к4<8. 

24 Ко<плект 
о7D46де=89 длO 
пDоEод=KE !К'� 

Ко<плект о7D46де=89 длO пDоEод=KE дол6е= Eоот6етEт6о64тL 
EледуNI8< теE=8GеEк8< тDе5о64=8O<: 
- 6KEот4 - 1000 <<; 
- H8D8=4 од=о9 EекF88 - от 1000 до 3000 <<; 
- кDепле=8е к полу E 8EполL7о64=8е< ко=Eол8. 

25 �47о6K9 ко=тDоллеD �47о6K9 ко=тDоллеD дол6е= Eоот6етEт6о64тL EледуNI8< 
теE=8GеEк8< тDе5о64=8O<: 
- кол8GеEт6о клNGе9 - =е =86е 2000; 
- кол8GеEт6о 74по<8=4е<KE Eо5Kт89 - =е =86е 2000; 
- 8=теDDе9E E6O78 Eо EG8тK64теле< - Wiegand 26; 

- 8=теDDе9E E6O78 E �К: RS-485 8л8 Ethernet; 
- уд4ле==оEтL ко=тDоллеD4 по RS-485 - до 1200 <. 

26 �Dео5D47о64телL 
8=теDDе9E4 

�Dео5D47о64телL 8=теDDе9E4 дол6е= Eоот6етEт6о64тL 
EледуNI8< теE=8GеEк8< тDе5о64=8O<: 
- пDео5D47о64телL дол6е= 5KтL пDед=47=4Gе= длO подклNGе=8O к 
пеDEо=4лL=о<у ко<пLNтеDу уEтDо9Eт6, 8<еNI8E 8=теDDе9E RS-

485; 

- подклNGе=8е 8 п8т4=8е ко=6еDтеD4 по USB; 
- 46то<4т8GеEкое опDеделе=8е EкоDоEт8 пD8е<4/пеDед4G8; 
- 46то<4т8GеEкое опDеделе=8е =4пD46ле=8O пеDед4G8; 
- подклNGе=8е к л8=88 E6O78 6 Eоот6етEт688 Eо EпеF8D8к4F8е9 
8=теDDе9E4 RS485. 

27 �47о6K9 ко<плект 
�О !К'� 

�47о6K9 ко<плект �О !К'� дол6е= Eоот6етEт6о64тL EледуNI8< 
теE=8GеEк8< тDе5о64=8O<: 
- D45от4 E ко=6еDтеD4<8 USB/RS485; 
- пDо7D4<<=ое ко=D87уD8Dо64=8е Eете6о7о ко=тDоллеD4; 
- =4EтDо9к4 ко=тDоллеDо6; 
- д8Eт4=F8о==ое упD46ле=8е ко=тDоллеDо<; 
- еEтL 6о7<о6=оEтL Eо7д464тL 7DуппK EотDуд=8ко6. 

28 �4EтолL=K9 
EG8тK64телL длO 
Gте=8O 8 74п8E8 
д4==KE =4 6Eе т8пK 
5еEко=т4кт=KE 
8де=т8D8к4тоDо6 
Mifare 

�4EтолL=K9 EG8тK64телL дол6е= Eоот6етEт6о64тL EледуNI8< 
теE=8GеEк8< тDе5о64=8O<: 
- о5еEпеGе=8е Gте=8O 8 74п8E8 д4==KE =4 5еEко=т4кт=Kе 
8де=т8D8к4тоDK Mifare; 
- 8=8F84л874F8O 8 пDо7D4<<8Dо64=8е, M<8EE8O о5Jекто6KE 
74I8Iе==KE к4Dт полL7о64теле9, Gте=8е к4Dт 6 пDоFеEEе 
74=еEе=8O полL7о64теле9 6 !К'�; 
- поддеD6к4 8де=т8D8к4тоDо6 DоD<4т4 MIFARE; 
- 8=теDDе9E E6O78 E ко<пLNтеDо< - USB 2.0. 

29 !G8тK64телL !G8тK64телL D4д8о<еток дол6е= Eоот6етEт6о64тL EледуNI8< 



D4д8о<еток теE=8GеEк8< тDе5о64=8O<: 
- о5<е= д4==K<8 E 5еEко=т4кт=K<8 к4Dт4<8; 
- поддеD6к4 т8по6 к4Dт: Mifare Ultralight, Mifare Standard (Classic) 

1K 8 4K, Mifare ID; 

- D45оG4O G4Eтот4 - 13,56 �7F; 
- D45оG4O д8Eт4=F8O =е <е=ее 20 <<; 
- 6KEод=о9 8=теDDе9E: Wiegand 26/34/42/50, Dallas Touch Memory 

(M<улOF8O DS1990A); 

- E6ето64O 8 76уко64O 8=д8к4F8O: еEтL; 
- 6=еH=ее упD46ле=8е E6етод8одо< 8 76уко<. 

30 �6то<4т878Dо64==ое 
D45оGее <еEто !К'� 

�6то<4т878Dо64==ое D45оGее <еEто дол6=о Eоот6етEт6о64тL 
EледуNI8< теE=8GеEк8< тDе5о64=8O<: 
- 64-58т=4O опеD4F8о==4O E8Eте<4 E 7D4D8GеEк8< 8=теDDе9Eо<; 

- пDоFеEEоD: 64-D47DOд=K9 (4-OдеD=K9); 
- О�' =е <е=ее 4 ��; DDR4; 
- поDтK USB: 6; 
- <о=8тоD: д847о=4лL MкD4=4 - 21.5"; 

- <4кE8<4лL=ое D47DеHе=8е - 1920 x 1080; 

- т8п подE6етк8 <4тD8FK - LED; 

- теE=оло78O 877ото6ле=8O <4тD8FK - TN; 

- т8п �К-<4тD8FK (подDо5=о) - TN+film; 

- Eоот=оHе=8е EтоDо= - 16:9; 

- покDKт8е MкD4=4 - <4то6ое; 
- теE=8GеEк8е E4D4ктеD8Eт8к8 MкD4=4: 

- D47<еD 68д8<о9 о5л4Eт8 MкD4=4 - 476 x 268 <<, 
- ODкоEтL - 200 Кд/<2

, 

- ко=тD4Eт=оEтL - 1000:1, 

- д8=4<8GеEк4O ко=тD4Eт=оEтL - 100M:1, 

- 6Dе<O откл8к4 п8кEелO - 5 <E, 
- у7ол о57оD4 по 6еDт8к4л8 - 65°, 
- у7ол о57оD4 по 7оD87о=т4л8 - 90°, 
- 8=теDDе9EK, 
- 68деоD47Jе<K DVI-D, VGA (D-sub); 

- <KHL; 
- кл4684туD4. 

31 К4DтK !К'� К4DтK !К'� дол6=K Eоот6етEт6о64тL EледуNI8< теE=8GеEк8< 
тDе5о64=8O<: 
- �О!&   �!О/�ЭК 7810-2015; 

- �О!&   �!О/�ЭК 14443-1-2013; 

- �О!&   �!О/�ЭК 14443-2-2014. 

К4DтK дол6=K 5KтL 877ото6ле=K 87 5ело7о пл4Eт8к4 6 
Eоот6етEт688 Eо EледуNI8<8 E4D4ктеD8Eт8к4<8: 

- H8D8=4 - 85,6 << +/- 0,13 <<; 
- 6KEот4 - 53,98 << +/- 0,06 <<; 
- толI8=4 - 0,76 - 0,8 <<; 
- D4д8уE 74кDу7ле=8O - 3,18 << +/- 0,3 <<; 
- 6KEтуп4NI8е 7о=K =е дол6=K 6KEтуп4тL =4д по6еDE=оEтLN 
к4DтK 5олее Gе< =4 200 <к<. 
&еE=8GеEк8е тDе5о64=8O: 
- =4л8G8е оD878=4лL=о7о G8п4 NXP Mifare ID; 
- <4теD84л 4=те==K к4DтK - <едL, <етод Eоед8=е=8O <одулL-

consultantplus://offline/ref=4240644257C4ADFBA290245F48A635E294272902B229ADC7A533C3EF1CE3B73B8605D540E6C377741875B614l4uCJ
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4=те==K к4DтK - TC-bonding; 

- тDе5о64=8O к 4=те==е к4DтK: 4=те==4 дол6=4 допуEк4тL 
6о7<о6=оEтL 6KDу5к8 от6еDEт8O по у7ко9/H8Dоко9 EтоDо=е 
к4DтK, допуEк4етEO от6еDEт8е D47<еDо< =е <е=ее 3 << x 15 <<. 
ЭлектD8GеEк8е E4D4ктеD8Eт8к8 кD8Eт4лл4: 
- 6EтDое==K9 <8кDопDоFеEEоD E 5еEко=т4кт=K< 8=теDDе9Eо< 
Eт4=д4Dт4 Mifare®  ID E у=8к4лL=K< длO 6Eе9 EеD88 4-549то6K< 
8де=т8D8к4тоDо< G8п4; 
- е<коEтL M=еD7о=е7468E8<о9 п4<Oт8 - =е 5олее 64 549т; 
- EтDуктуD4 п4<Oт8: 1 EектоD, EоEто8т 87 4-E 5локо6 по 16 549т; 
- 32 549т4 полL7о64телLEко9 п4<Oт8; 
- <8=8<4лL=ое кол8GеEт6о F8кло6 пеDе74п8E8 
пеDепDо7D4<<8Dуе<о9 M=еD7о=е7468E8<о9 п4<Oт8 - 200 000; 

- 8EполL7о64=8е 5еEко=т4кт=о7о 8=теDDе9E4 Eт4=д4Dт4 ISO 14443A 
(13,56 ��F, D4EEтоO=8е до 10 E<, 106 - 848 к58т/E); 
- =4л8G8е п4DK клNGе9, о5еEпеG864NI8E доEтуп к д4==о<у 
EектоDу; 
- E6о5од=4O ко=D87уD4F8O уEло689 доEтуп4; 
- пDо876од8телL=оEтL: EкоDоEтL пеDед4G8 д4==KE =е <е=ее 106 
К58т/E, 8EполL7о64=8е уEкоDе==KE тD4=74кF89 74 EGет 785ко9 
D49ло6о9 EтDуктуDK 8л8 Multi-ко<4=д; 
- E<е=4 Eт4=д4Dт=KE клNGе9 =4 клNG8 74к47G8к4; 
- поддеD6к4 <еE4=87<4 4=т8колл8788; 
- тDеEпDоEод=4O 4уте=т8D8к4F8O (ISO/IEC DIS 9798-2); 

- H8DDо64=8е д4==KE пD8 пеDед4Gе по 5еEко=т4кт=о<у 
8=теDDе9Eу. 

32 �EтоG=8к 
5еEпеDе5о9=о7о 
п8т4=8O 

�EтоG=8к 5еEпеDе5о9=о7о п8т4=8O дол6е= Eоот6етEт6о64тL 
EледуNI8< теE=8GеEк8< тDе5о64=8O<: 
- 6KEод=4O <оI=оEтL, ��/�т - 1000/900; 

- <4кE8<4лL=4O 74д464е<4O <оI=оEтL, ��/�т - 1000/900; 

- =о<8=4лL=ое 6KEод=ое =4пDO6е=8е - 230 V; 

- 8Eк46е=8O DоD<K 6KEод=о7о =4пDO6е=8O пD8 л8=е9=о9 
=47Dу7ке <е=ее 3%; 
- 6KEод=4O G4Eтот4 (E8=EDо=878Dо64==4O E MлектDоEетLN) - -
50/60Hz +/- 1Hz; 

- дDу78е 6KEод=Kе =4пDO6е=8O - 220, 240 V; 

- п8к-D4ктоD =47Dу7к8 - 3:1; 

- тополо78O - д6о9=ое пDео5D47о64=8е; 
- т8п DоD<K =4пDO6е=8O - E8=уEо8д4лL=K9 E87=4л; 
- 8Eпол=е=8е длO <о=т464 6 Eто9ку 19"; 
- 6KEот4 ��� - =е 5олее 2U; 
- 6EтDое==K9 8=DоD<4F8о==K9 д8Eпле9; 
- 6EтDое==K9 549п4E; 
- =о<8=4лL=ое 6Eод=ое =4пDO6е=8е - 230 V; 

- 6Eод=4O G4Eтот4 - -40 - 70 �F (46то<4т8GеEкое опDеделе=8е); 
- т8п 6Eод=о7о Eоед8=е=8O - IEC-320 C14; 

- д84п47о= 6Eод=о7о =4пDO6е=8O пD8 D45оте от Eет8 - 160 - 300 � 
пD8 =47Dу7ке 100%, 110 - 300 � пD8 =47Dу7ке < 60%; 
- дDу78е 7=4Gе=8O 6Eод=о7о =4пDO6е=8O - 220, 240 V; 

- =о<8=4лL=ое =4пDO6е=8е/е<коEтL 54т4Dе8 - 12V/9Ah. 

33 Опт8<874тоD Опт8<874тоD M=еD7опотDе5ле=8O дол6е= Eоот6етEт6о64тL 



M=еD7опотDе5ле=8O, 
т8п 1 

EледуNI8< теE=8GеEк8< тDе5о64=8O<: 
- =47Dу7оG=4O EпоEо5=оEтL; 
- =о<8=4лL=K9 ток - =е <е=ее 60 �. 
$у=кF8о=4лL=Kе тDе5о64=8O: 
- дол6е= удеD6864тL =4пDO6е=8е =4 =47Dу7ке 6 д84п47о=е 210 - 
230 � пD8 87<е=е=88 =4пDO6е=8O 6о 6Eод=о9 Eет8 от 198 до 242 
�; 
- EоED4=OтL D45отоEпоEо5=оEтL пD8 =4пDO6е=88 6о 6Eод=о9 Eет8 
от 85 до 264 �; 
- о5еEпеG864тL 87<еDе=8е, 8=д8к4F8N, 4DE868Dо64=8е оE=о6=KE 
п4D4<етDо6 MлектDоп8т4=8O, 6клNG4O 6Eод=ое 8 6KEод=ое 
=4пDO6е=8е, ток, коE8=уE $, 4кт86=уN, Dе4кт86=уN 8 пол=уN 
<оI=оEтL; 
- упD46ле=8е Dе68<4<8 D45отK уEтDо9Eт64 дол6=о 
оEуIеEт6лOтLEO GеDе7 7D4D8GеEкуN Eе=EоD=уN п4=елL; 
- Eтепе=L 74I8тK - IP54. 

34 Опт8<874тоD 
M=еD7опотDе5ле=8O, 
т8п 2 

Опт8<874тоD M=еD7опотDе5ле=8O дол6е= Eоот6етEт6о64тL 
EледуNI8< теE=8GеEк8< тDе5о64=8O<: 
- =47Dу7оG=4O EпоEо5=оEтL; 
- =о<8=4лL=K9 ток - =е <е=ее 100 �. 
$у=кF8о=4лL=Kе тDе5о64=8O: 
- дол6е= удеD6864тL =4пDO6е=8е =4 =47Dу7ке 6 д84п47о=е 210 - 
230 � пD8 87<е=е=88 =4пDO6е=8O 6о 6Eод=о9 Eет8 от 198 до 242 
�; 
- EоED4=OтL D45отоEпоEо5=оEтL пD8 =4пDO6е=88 6о 6Eод=о9 Eет8 
от 85 до 264 �; 
- о5еEпеG864тL 87<еDе=8е, 8=д8к4F8N, 4DE868Dо64=8е оE=о6=KE 
п4D4<етDо6 MлектDоп8т4=8O, 6клNG4O 6Eод=ое 8 6KEод=ое 
=4пDO6е=8е, ток, коE8=уE $, 4кт86=уN, Dе4кт86=уN 8 пол=уN 
<оI=оEтL; 
- упD46ле=8е Dе68<4<8 D45отK уEтDо9Eт64 дол6=о 
оEуIеEт6лOтLEO GеDе7 7D4D8GеEкуN Eе=EоD=уN п4=елL; 
- Eтепе=L 74I8тK - IP54. 

35 Опт8<874тоD 
M=еD7опотDе5ле=8O, 
т8п 3 

Опт8<874тоD M=еD7опотDе5ле=8O дол6е= Eоот6етEт6о64тL 
EледуNI8< теE=8GеEк8< тDе5о64=8O<: 
- =47Dу7оG=4O EпоEо5=оEтL; 
- =о<8=4лL=K9 ток - =е <е=ее 130 �. 
$у=кF8о=4лL=Kе тDе5о64=8O: 
- дол6е= удеD6864тL =4пDO6е=8е =4 =47Dу7ке 6 д84п47о=е 210 - 
230 � пD8 87<е=е=88 =4пDO6е=8O 6о 6Eод=о9 Eет8 от 198 до 242 
�; 
- EоED4=OтL D45отоEпоEо5=оEтL пD8 =4пDO6е=88 6о 6Eод=о9 Eет8 
от 85 до 264 �; 
- о5еEпеG864тL 87<еDе=8е, 8=д8к4F8N, 4DE868Dо64=8е оE=о6=KE 
п4D4<етDо6 MлектDоп8т4=8O, 6клNG4O 6Eод=ое 8 6KEод=ое 
=4пDO6е=8е, ток, коE8=уE $, 4кт86=уN, Dе4кт86=уN 8 пол=уN 
<оI=оEтL; 
- упD46ле=8е Dе68<4<8 D45отK уEтDо9Eт64 дол6=о 
оEуIеEт6лOтLEO GеDе7 7D4D8GеEкуN Eе=EоD=уN п4=елL; 
- Eтепе=L 74I8тK - IP54. 

36 Опт8<874тоD Опт8<874тоD M=еD7опотDе5ле=8O дол6е= Eоот6етEт6о64тL 



M=еD7опотDе5ле=8O, 
т8п 4 

EледуNI8< теE=8GеEк8< тDе5о64=8O<: 
- =47Dу7оG=4O EпоEо5=оEтL; 
- =о<8=4лL=K9 ток - =е <е=ее 160 �. 
$у=кF8о=4лL=Kе тDе5о64=8O: 
- дол6е= удеD6864тL =4пDO6е=8е =4 =47Dу7ке 6 д84п47о=е 210 - 
230 � пD8 87<е=е=88 =4пDO6е=8O 6о 6Eод=о9 Eет8 от 198 до 242 
�; 
- EоED4=OтL D45отоEпоEо5=оEтL пD8 =4пDO6е=88 6о 6Eод=о9 Eет8 
от 85 до 264 �; 
- о5еEпеG864тL 87<еDе=8е, 8=д8к4F8N, 4DE868Dо64=8е оE=о6=KE 
п4D4<етDо6 MлектDоп8т4=8O, 6клNG4O 6Eод=ое 8 6KEод=ое 
=4пDO6е=8е, ток, коE8=уE $, 4кт86=уN, Dе4кт86=уN 8 пол=уN 
<оI=оEтL; 
- упD46ле=8е Dе68<4<8 D45отK уEтDо9Eт64 дол6=о 
оEуIеEт6лOтLEO GеDе7 7D4D8GеEкуN Eе=EоD=уN п4=елL; 
- Eтепе=L 74I8тK - IP54. 

37 Опт8<874тоD 
M=еD7опотDе5ле=8O, 
т8п 5 

Опт8<874тоD M=еD7опотDе5ле=8O дол6е= Eоот6етEт6о64тL 
EледуNI8< теE=8GеEк8< тDе5о64=8O<: 
- =47Dу7оG=4O EпоEо5=оEтL; 
- =о<8=4лL=K9 ток - =е <е=ее 200 �. 
$у=кF8о=4лL=Kе тDе5о64=8O: 
- дол6е= удеD6864тL =4пDO6е=8е =4 =47Dу7ке 6 д84п47о=е 210 - 
230 � пD8 87<е=е=88 =4пDO6е=8O 6о 6Eод=о9 Eет8 от 198 до 242 
�; 
- EоED4=OтL D45отоEпоEо5=оEтL пD8 =4пDO6е=88 6о 6Eод=о9 Eет8 
от 85 до 264 �; 
- о5еEпеG864тL 87<еDе=8е, 8=д8к4F8N, 4DE868Dо64=8е оE=о6=KE 
п4D4<етDо6 MлектDоп8т4=8O, 6клNG4O 6Eод=ое 8 6KEод=ое 
=4пDO6е=8е, ток, коE8=уE $, 4кт86=уN, Dе4кт86=уN 8 пол=уN 
<оI=оEтL; 
- упD46ле=8е Dе68<4<8 D45отK уEтDо9Eт64 дол6=о 
оEуIеEт6лOтLEO GеDе7 7D4D8GеEкуN Eе=EоD=уN п4=елL; 
- Eтепе=L 74I8тK - IP54. 

38 Опт8<874тоD 
M=еD7опотDе5ле=8O, 
т8п 6 

Опт8<874тоD M=еD7опотDе5ле=8O дол6е= Eоот6етEт6о64тL 
EледуNI8< теE=8GеEк8< тDе5о64=8O<: 
- =47Dу7оG=4O EпоEо5=оEтL; 
- =о<8=4лL=K9 ток - =е <е=ее 250 �. 
$у=кF8о=4лL=Kе тDе5о64=8O: 
- дол6е= удеD6864тL =4пDO6е=8е =4 =47Dу7ке 6 д84п47о=е 210 - 
230 � пD8 87<е=е=88 =4пDO6е=8O 6о 6Eод=о9 Eет8 от 198 до 242 
�; 
- EоED4=OтL D45отоEпоEо5=оEтL пD8 =4пDO6е=88 6о 6Eод=о9 Eет8 
от 85 до 264 �; 
- о5еEпеG864тL 87<еDе=8е, 8=д8к4F8N, 4DE868Dо64=8е оE=о6=KE 
п4D4<етDо6 MлектDоп8т4=8O, 6клNG4O 6Eод=ое 8 6KEод=ое 
=4пDO6е=8е, ток, коE8=уE $, 4кт86=уN, Dе4кт86=уN 8 пол=уN 
<оI=оEтL; 
- упD46ле=8е Dе68<4<8 D45отK уEтDо9Eт64 дол6=о 
оEуIеEт6лOтLEO GеDе7 7D4D8GеEкуN Eе=EоD=уN п4=елL; 
- Eтепе=L 74I8тK - IP54. 

39 Опт8<874тоD Опт8<874тоD M=еD7опотDе5ле=8O дол6е= Eоот6етEт6о64тL 



M=еD7опотDе5ле=8O, 
т8п 7 

EледуNI8< теE=8GеEк8< тDе5о64=8O<: 
- =47Dу7оG=4O EпоEо5=оEтL; 
- =о<8=4лL=K9 ток - =е <е=ее 320 �. 
$у=кF8о=4лL=Kе тDе5о64=8O: 
- дол6е= удеD6864тL =4пDO6е=8е =4 =47Dу7ке 6 д84п47о=е 210 - 
230 � пD8 87<е=е=88 =4пDO6е=8O 6о 6Eод=о9 Eет8 от 198 до 242 
�; 
- EоED4=OтL D45отоEпоEо5=оEтL пD8 =4пDO6е=88 6о 6Eод=о9 Eет8 
от 85 до 264 �; 
- о5еEпеG864тL 87<еDе=8е, 8=д8к4F8N, 4DE868Dо64=8е оE=о6=KE 
п4D4<етDо6 MлектDоп8т4=8O, 6клNG4O 6Eод=ое 8 6KEод=ое 
=4пDO6е=8е, ток, коE8=уE $, 4кт86=уN, Dе4кт86=уN 8 пол=уN 
<оI=оEтL; 
- упD46ле=8е Dе68<4<8 D45отK уEтDо9Eт64 дол6=о 
оEуIеEт6лOтLEO GеDе7 7D4D8GеEкуN Eе=EоD=уN п4=елL; 
- Eтепе=L 74I8тK - IP54. 

40 Опт8<874тоD 
M=еD7опотDе5ле=8O, 
т8п 8 

Опт8<874тоD M=еD7опотDе5ле=8O дол6е= Eоот6етEт6о64тL 
EледуNI8< теE=8GеEк8< тDе5о64=8O<: 
- =47Dу7оG=4O EпоEо5=оEтL; 
- =о<8=4лL=K9 ток - =е <е=ее 500 �. 
$у=кF8о=4лL=Kе тDе5о64=8O: 
- дол6е= удеD6864тL =4пDO6е=8е =4 =47Dу7ке 6 д84п47о=е 210 - 
230 � пD8 87<е=е=88 =4пDO6е=8O 6о 6Eод=о9 Eет8 от 198 до 242 
�; 
- EоED4=OтL D45отоEпоEо5=оEтL пD8 =4пDO6е=88 6о 6Eод=о9 Eет8 
от 85 до 264 �; 
- о5еEпеG864тL 87<еDе=8е, 8=д8к4F8N, 4DE868Dо64=8е оE=о6=KE 
п4D4<етDо6 MлектDоп8т4=8O, 6клNG4O 6Eод=ое 8 6KEод=ое 
=4пDO6е=8е, ток, коE8=уE $, 4кт86=уN, Dе4кт86=уN 8 пол=уN 
<оI=оEтL; 
- упD46ле=8е Dе68<4<8 D45отK уEтDо9Eт64 дол6=о 
оEуIеEт6лOтLEO GеDе7 7D4D8GеEкуN Eе=EоD=уN п4=елL; 
- Eтепе=L 74I8тK - IP54. 

41 Опт8<874тоD 
M=еD7опотDе5ле=8O, 
т8п 9 

Опт8<874тоD M=еD7опотDе5ле=8O дол6е= Eоот6етEт6о64тL 
EледуNI8< теE=8GеEк8< тDе5о64=8O<: 
- =47Dу7оG=4O EпоEо5=оEтL; 
- =о<8=4лL=K9 ток - =е <е=ее 635 �. 
$у=кF8о=4лL=Kе тDе5о64=8O: 
- дол6е= удеD6864тL =4пDO6е=8е =4 =47Dу7ке 6 д84п47о=е 210 - 
230 � пD8 87<е=е=88 =4пDO6е=8O 6о 6Eод=о9 Eет8 от 198 до 242 
�; 
- EоED4=OтL D45отоEпоEо5=оEтL пD8 =4пDO6е=88 6о 6Eод=о9 Eет8 
от 85 до 264 �; 
- о5еEпеG864тL 87<еDе=8е, 8=д8к4F8N, 4DE868Dо64=8е оE=о6=KE 
п4D4<етDо6 MлектDоп8т4=8O, 6клNG4O 6Eод=ое 8 6KEод=ое 
=4пDO6е=8е, ток, коE8=уE $, 4кт86=уN, Dе4кт86=уN 8 пол=уN 
<оI=оEтL; 
- упD46ле=8е Dе68<4<8 D45отK уEтDо9Eт64 дол6=о 
оEуIеEт6лOтLEO GеDе7 7D4D8GеEкуN Eе=EоD=уN п4=елL; 
- Eтепе=L 74I8тK - IP54. 

42 Опт8<874тоD Опт8<874тоD M=еD7опотDе5ле=8O дол6е= Eоот6етEт6о64тL 



M=еD7опотDе5ле=8O, 
т8п 10 

EледуNI8< теE=8GеEк8< тDе5о64=8O<: 
- =47Dу7оG=4O EпоEо5=оEтL; 
- =о<8=4лL=K9 ток - =е <е=ее 60 �. 
$у=кF8о=4лL=Kе тDе5о64=8O: 
- дол6е= удеD6864тL =4пDO6е=8е =4 =47Dу7ке 6 д84п47о=е 210 - 
230 � пD8 87<е=е=88 =4пDO6е=8O 6о 6Eод=о9 Eет8 от 187 до 255 
�; 
- EоED4=OтL D45отоEпоEо5=оEтL пD8 =4пDO6е=88 6о 6Eод=о9 Eет8 
от 85 до 264 �; 
- о5еEпеG864тL 87<еDе=8е, 8=д8к4F8N, 4DE868Dо64=8е оE=о6=KE 
п4D4<етDо6 MлектDоп8т4=8O, 6клNG4O 6Eод=ое 8 6KEод=ое 
=4пDO6е=8е, ток, коE8=уE $, 4кт86=уN, Dе4кт86=уN 8 пол=уN 
<оI=оEтL; 
- упD46ле=8е Dе68<4<8 D45отK уEтDо9Eт64 дол6=о 
оEуIеEт6лOтLEO GеDе7 7D4D8GеEкуN Eе=EоD=уN п4=елL; 
- Eтепе=L 74I8тK - IP54. 

43 Опт8<874тоD 
M=еD7опотDе5ле=8O, 
т8п 11 

Опт8<874тоD M=еD7опотDе5ле=8O дол6е= Eоот6етEт6о64тL 
EледуNI8< теE=8GеEк8< тDе5о64=8O<: 
- =47Dу7оG=4O EпоEо5=оEтL; 
- =о<8=4лL=K9 ток - =е <е=ее 100 �. 
$у=кF8о=4лL=Kе тDе5о64=8O: 
- дол6е= удеD6864тL =4пDO6е=8е =4 =47Dу7ке 6 д84п47о=е 210 - 
230 � пD8 87<е=е=88 =4пDO6е=8O 6о 6Eод=о9 Eет8 от 187 до 255 
�; 
- EоED4=OтL D45отоEпоEо5=оEтL пD8 =4пDO6е=88 6о 6Eод=о9 Eет8 
от 85 до 264 �; 
- о5еEпеG864тL 87<еDе=8е, 8=д8к4F8N, 4DE868Dо64=8е оE=о6=KE 
п4D4<етDо6 MлектDоп8т4=8O, 6клNG4O 6Eод=ое 8 6KEод=ое 
=4пDO6е=8е, ток, коE8=уE $, 4кт86=уN, Dе4кт86=уN 8 пол=уN 
<оI=оEтL; 
- упD46ле=8е Dе68<4<8 D45отK уEтDо9Eт64 дол6=о 
оEуIеEт6лOтLEO GеDе7 7D4D8GеEкуN Eе=EоD=уN п4=елL; 
- Eтепе=L 74I8тK - IP54. 

44 Опт8<874тоD 
M=еD7опотDе5ле=8O, 
т8п 12 

Опт8<874тоD M=еD7опотDе5ле=8O дол6е= Eоот6етEт6о64тL 
EледуNI8< теE=8GеEк8< тDе5о64=8O<: 
- =47Dу7оG=4O EпоEо5=оEтL; 
- =о<8=4лL=K9 ток - =е <е=ее 130 �. 
$у=кF8о=4лL=Kе тDе5о64=8O: 
- дол6е= удеD6864тL =4пDO6е=8е =4 =47Dу7ке 6 д84п47о=е 210 - 
230 � пD8 87<е=е=88 =4пDO6е=8O 6о 6Eод=о9 Eет8 от 187 до 255 
�; 
- EоED4=OтL D45отоEпоEо5=оEтL пD8 =4пDO6е=88 6о 6Eод=о9 Eет8 
от 85 до 264 �; 
- о5еEпеG864тL 87<еDе=8е, 8=д8к4F8N, 4DE868Dо64=8е оE=о6=KE 
п4D4<етDо6 MлектDоп8т4=8O, 6клNG4O 6Eод=ое 8 6KEод=ое 
=4пDO6е=8е, ток, коE8=уE $, 4кт86=уN, Dе4кт86=уN 8 пол=уN 
<оI=оEтL; 
- упD46ле=8е Dе68<4<8 D45отK уEтDо9Eт64 дол6=о 
оEуIеEт6лOтLEO GеDе7 7D4D8GеEкуN Eе=EоD=уN п4=елL; 
- Eтепе=L 74I8тK - IP54. 

45 Опт8<874тоD Опт8<874тоD M=еD7опотDе5ле=8O дол6е= Eоот6етEт6о64тL 



M=еD7опотDе5ле=8O, 
т8п 13 

EледуNI8< теE=8GеEк8< тDе5о64=8O<: 
- =47Dу7оG=4O EпоEо5=оEтL; 
- =о<8=4лL=K9 ток - =е <е=ее 160 �. 
$у=кF8о=4лL=Kе тDе5о64=8O: 
- дол6е= удеD6864тL =4пDO6е=8е =4 =47Dу7ке 6 д84п47о=е 210 - 
230 � пD8 87<е=е=88 =4пDO6е=8O 6о 6Eод=о9 Eет8 от 187 до 255 
�; 
- EоED4=OтL D45отоEпоEо5=оEтL пD8 =4пDO6е=88 6о 6Eод=о9 Eет8 
от 85 до 264 �; 
- о5еEпеG864тL 87<еDе=8е, 8=д8к4F8N, 4DE868Dо64=8е оE=о6=KE 
п4D4<етDо6 MлектDоп8т4=8O, 6клNG4O 6Eод=ое 8 6KEод=ое 
=4пDO6е=8е, ток, коE8=уE $, 4кт86=уN, Dе4кт86=уN 8 пол=уN 
<оI=оEтL; 
- упD46ле=8е Dе68<4<8 D45отK уEтDо9Eт64 дол6=о 
оEуIеEт6лOтLEO GеDе7 7D4D8GеEкуN Eе=EоD=уN п4=елL; 
- Eтепе=L 74I8тK - IP54. 

46 Опт8<874тоD 
M=еD7опотDе5ле=8O, 
т8п 14 

Опт8<874тоD M=еD7опотDе5ле=8O дол6е= Eоот6етEт6о64тL 
EледуNI8< теE=8GеEк8< тDе5о64=8O<: 
- =47Dу7оG=4O EпоEо5=оEтL; 
- =о<8=4лL=K9 ток - =е <е=ее 200 �. 
$у=кF8о=4лL=Kе тDе5о64=8O: 
- дол6е= удеD6864тL =4пDO6е=8е =4 =47Dу7ке 6 д84п47о=е 210 - 
230 � пD8 87<е=е=88 =4пDO6е=8O 6о 6Eод=о9 Eет8 от 187 до 255 
�; 
- EоED4=OтL D45отоEпоEо5=оEтL пD8 =4пDO6е=88 6о 6Eод=о9 Eет8 
от 85 до 264 �; 
- о5еEпеG864тL 87<еDе=8е, 8=д8к4F8N, 4DE868Dо64=8е оE=о6=KE 
п4D4<етDо6 MлектDоп8т4=8O, 6клNG4O 6Eод=ое 8 6KEод=ое 
=4пDO6е=8е, ток, коE8=уE $, 4кт86=уN, Dе4кт86=уN 8 пол=уN 
<оI=оEтL; 
- упD46ле=8е Dе68<4<8 D45отK уEтDо9Eт64 дол6=о 
оEуIеEт6лOтLEO GеDе7 7D4D8GеEкуN Eе=EоD=уN п4=елL; 
- Eтепе=L 74I8тK - IP54. 

47 Опт8GеEк89 к45елL 
&ОЛ-=7(A)-HF-08' - 
2,7 к� (12743) 

- Кол-6о 6олоко= - 8. 

- &8п 6олоко= - G.652.D+G.657.A1. 

- �о<8=4лL=K9 =4Dу6=K9 д84<етD ОК, << - 7,3. 

- �8=. D4д8уE 877854 ОК, << - 109,5. 

48 45-<еE4=87< Dо7етк8 
ко<пLNтеD=о9 RJ-45, 

к4т. 5e, UTP-<одулL 
(8 ко=т4кто6) 

- �еE4=87< ко<пLNтеD=о9 Dо7етк8 RJ-45 к4те7оD88 5e UTP E 8 
ко=т4кт4<8. 
- КDепле=8е к подDо7ет=8ку =4 68=т4E 8л8 D4EпоD=KE л4пк4E. 
- �4де6=K9 68=то6о9 7468< пDо6од4 длO 4лN<8=8е6KE 8 
<ед=KE пDо6одо6 до 2,5 <<2

. 

- �4теD84л <еE4=87<4 - теD<оEто9к4O MлектDотеE=8GеEк4O 
пл4Eт<4EE4. 

49 Ко<<ут4F8о==K9 
H=уD U/UTP, 
к4те7оD8O 5e, LSZH 
(=7(A)-HF) 1,0 < 

- �4тG-коDд - дл8=4 1,0 <. 
- К4те7оD8O к45елO - 5e. 

- Ко=EтDукF8O к45елO - UTP. 

- Кол8GеEт6о п4D к45елO - 4. 

- &8п пDо6од=8ко6 к45елO - <=о7о68лL=K9. 
- �84<етD к45елO по 6=еH=е9 о5олоGке - 5,5 +/- 0,3 <<. 



50 Ко<<ут4F8о==K9 
H=уD U/UTP, 
к4те7оD8O 5e, LSZH 
(=7(A)-HF) 3,0 < 

- �4тG-коDд - дл8=4 3,0 <. 
- К4те7оD8O к45елO - 5e. 

- Ко=EтDукF8O к45елO - UTP. 

- Кол8GеEт6о п4D к45елO - 4. 

- &8п пDо6од=8ко6 к45елO - <=о7о68лL=K9. 
- �84<етD к45елO по 6=еH=е9 о5олоGке - 5,5 +/- 0,3 <<. 

51 Ко<<ут4F8о==K9 
H=уD U/UTP, 
к4те7оD8O 5e, LSZH 
(=7(A)-HF) 5,0 < 

- �4тG-коDд - дл8=4 5,0 <. 
- К4те7оD8O к45елO - 5e. 

- Ко=EтDукF8O к45елO - UTP. 

- Кол8GеEт6о п4D к45елO - 4. 

- &8п пDо6од=8ко6 к45елO - <=о7о68лL=K9. 
- �84<етD к45елO по 6=еH=е9 о5олоGке - 5,5 +/- 0,3 <<. 

52 К45елL, к4т. 5e, 4 x 2 
24AWG LSZH, 

5е774ло7е==K9, 305 
<етDо6 

- К4те7оD8O - 5e. 

- '8Eло п4D - 4. 

- &8п к45елO - U/UTP MкD4=8Dо64==K9. 
- �Dо6од=8к (68л4) од=о68лL=K9, MлектDотеE=8GеEк4O <едL. 
- �D8<е=е=8е - 6=утDе==OO пDокл4дк4. 
- �л8=4 к45елO - 305 <. 

53 К45елL, к4т. 5e, 4 x 2 
24AWG PE, длO 
6=еH=е9 пDокл4дк8, 
305 <етDо6 

- &8п к45елO - =еMкD4=8Dо64==4O 6=еH=OO ул8G=4O UTP (4 x 2 x 
0,5). 

- �D8<е=е=8е - ул8G=K9 длO 6=еH=е9 пDо6одк8 (+60 °C, -40 °C). 
- �Dо6од=8к - FелL=K9 (24 AWG) <ед=K9 од=о68лL=K9 (solid). 

54 100 x 40 коDо5 E 
кDKHко9 (кDKHк4 = 
80 <<) 

- !еGе=8е к45елL-к4=4л4 - 100 x 40 <<. 
- �л8=4 к45елL-к4=4л4 - 2 <етD4. 
- �4теD84л - E4<о74туE4NI4O ко<по78F8O ��%. 

55 RI 100 x 40 у7ол 
6=утDе==89 
87<е=Oе<K9 

- '7ол 6=утDе==89 87<е=Oе<K9 100 x 40 длO к45елO к4=4л4 100 x 
40 <<. 
- �4теD84л - E4<о74туE4NI4O ко<по78F8O ��%. 

56 RE 100 x 40 у7ол 
6=еH=89 
87<е=Oе<K9 

- '7ол 6=еH=89 87<е=Oе<K9 100 x 40 длO к45елO к4=4л4 100 x 40 
<<. 
- �4теD84л - E4<о74туE4NI4O ко<по78F8O ��%. 

57 RL 100 x 40 у7ол 
плоEк89 

- '7ол плоEк89 100 x 40 длO к45елO к4=4л4 100 x 40 <<. 
- �4теD84л - E4<о74туE4NI4O ко<по78F8O ��%. 

58 RT 100 x 40 тDо9=8к - &Dо9=8к 100 x 40 длO к45елO к4=4л4 100 x 40 <<. 
- �4теD84л - E4<о74туE4NI4O ко<по78F8O ��%. 

59 RU 100 x 40 

Eоед8=е=8е =4 EтKк 

- !оед8=е=8е =4 EтKк 100 x 40 длO к45елO к4=4л4 100 x 40 <<. 

- �4теD84л - E4<о74туE4NI4O ко<по78F8O ��%. 

60 RF 100 x 40 747луHк4 - �47луHк4 100 x 40 длO к45елO к4=4л4 100 x 40 <<. 
- �4теD84л - E4<о74туE4NI4O ко<по78F8O ��%. 

61 PM-45 EуппоDт длO 
Dо7етк8 45 x 45 2 
<одулO 

- !уппоDт длO Dо7етк8 45 x 45 =4 2 <одулO. - �4теD84л - ��! 
пл4Eт8к. 
-  47<еD <еE4=87<4 - 45 x 45 << (2 <одулO). 
- (8D8=4 кDKHк8 к45елL-к4=4л4 8 коло==K - 80 <<. 
- �454D8тK - 65 x 78 x 30 <<. 



62 PM-45/4 EуппоDт длO 
Dо7етк8 45 x 45 4 
<одулO 

- !уппоDт длO Dо7етк8 45 x 45 =4 4 <одулO. 
- �4теD84л - ��! пл4Eт8к. 
-  47<еD <еE4=87<4 - 2 x 45 x 45 << (4 <одулO). 
- (8D8=4 кDKHк8 к45елL-к4=4л4 8 коло==K - 80 <<. 
- �454D8тK - 140 x 78 x 30 <<. 

63 PM-45/6 EуппоDт длO 
Dо7етк8 45 x 45 6 
<одуле9 

- !уппоDт длO Dо7етк8 45 x 45 =4 6 <одуле9. 
- �4теD84л - ��! пл4Eт8к. 
-  47<еD <еE4=87<4 - 3 x 45 x 45 << (6 <одуле9). 
- (8D8=4 кDKHк8 к45елL-к4=4л4 8 коло==K - 80 <<. 
- �454D8тK - 190 x 78 x 30 <<. 

64 �одулL-4д4птеD 
(л8Fе64O п4=елL) 
Dо7. 8=DоD<., 45 x 
45, RJ, 2 6Eод4 

- �одулL-4д4птеD (л8Fе64O п4=елL) Dо7. 8=DоD<., 45 x 45, RJ, 2 
6Eод4. 
- �Dед=47=4Gе=4 длO кDепле=8O 8 74I8тK <одуле9 
8=DоD<4F8о==KE Dо7еток. 

65 �одулL 4д4птеD 
(л8Fе64O п4=елL) 
Dо7. 8=DоD<., 45 x 
22.5, RJ, 1 6Eод 

- �одулL 4д4птеD (л8Fе64O п4=елL) Dо7. 8=DоD<., 45 x 22.5, RJ, 1 
6Eод. 
- �Dед=47=4Gе=4 длO кDепле=8O 8 74I8тK <одуле9 
8=DоD<4F8о==KE Dо7еток. 

66 �одулL 4д4птеD 
(л8Fе64O п4=елL) 
Dо7. 8=DоD<., 45 x 
45, RJ, 1 6Eод 

- �одулL 4д4птеD (л8Fе64O п4=елL) Dо7. 8=DоD<., 45 x 45, RJ, 1 
6Eод. 
- �Dед=47=4Gе=4 длO кDепле=8O 8 74I8тK <одуле9 
8=DоD<4F8о==KE Dо7еток. 

67 45-Dо7етк4 E 7/к, Eо 
HтоDк4<8 (кD4E=K9) 
LK45 

- ЭлектD8GеEк8е п4D4<етDK: 16 �, ~ 250 �. 
- КDепле=8е к подDо7ет=8ку =4 68=т4E 8л8 D4EпоD=KE л4пк4E. 
- �4де6=K9 68=то6о9 7468< пDо6од4 длO 4лN<8=8е6KE 8 
<ед=KE пDо6одо6 до 2,5 <<2

. 

- �4теD84л л8Fе6о9 G4Eт8 - ��!-пл4Eт8к. 
- �4теD84л <еE4=87<4 - теD<оEто9к4O MлектDотеE=8GеEк4O 
пл4Eт<4EE4. 
- !тепе=L 74I8тK - IP 20. 

- �454D8тK - 45 x 45 x 40 <<. 
- �еE - =е 5олее 90 7 (5е7 D4<к8). 
-  4EEтоO=8е <е6ду Fе=тD4<8 87дел89 пD8 7Dуппо6о< <о=т46е - 
71 <<. 

68 45-Dо7етк4 E 7/к, Eо 
HтоDк4<8 LK45 

- ЭлектD8GеEк8е п4D4<етDK: 16 �, ~ 250 �. 
- КDепле=8е к подDо7ет=8ку =4 68=т4E 8л8 D4EпоD=KE л4пк4E. 
- �4де6=K9 68=то6о9 7468< пDо6од4 длO 4лN<8=8е6KE 8 
<ед=KE пDо6одо6 до 2,5 <<2

. 

- �4теD84л л8Fе6о9 G4Eт8 - ��!-пл4Eт8к. 
- �4теD84л <еE4=87<4 - теD<оEто9к4O MлектDотеE=8GеEк4O 
пл4Eт<4EE4. 
- !тепе=L 74I8тK - IP 20. 

- �454D8тK - 45 x 45 x 40 <<. 
- �еE - =е 5олее 90 7 (5е7 D4<к8). 
-  4EEтоO=8е <е6ду Fе=тD4<8 87дел89 пD8 7Dуппо6о< <о=т46е - 
71 <<. 

69 ECO40/25 <8=8к4=4л - &8п - <8=8к4=4лK. 



40 x 25 << -  47<еD - 40 x 25 <<. 
- �Eпол=е=8е - E кDKHко9. 
- !4<о74туE4NI89 - д4. 
- �о=т46 - =4Eте==K9. 

70 RMI40/25 у7ол 40 x 
25 << 6=утDе==89 
пл46=K9 Eт.TIA 

- '7ол 40 x 25 6=утDе==89 пл46=K9 Eт.TIA длO к45елL-к4=4л4 40 x 
25 <<. 
- �4теD84л - E4<о74туE4NI4O ко<по78F8O ��%. 

71 RME40/25 у7ол 40 x 
25 << 6=еH=89 
пл46=K9 Eт.TIA 

- '7ол 40 x 25 6=еH=89 пл46=K9 Eт.TIA длO к45елL-к4=4л4 40 x 25 
<<. 
- �4теD84л - E4<о74туE4NI4O ко<по78F8O ��%. 

72 RML40/25 у7ол 40 x 
25 << плоEк89 
пл46=K9 Eт.TIA 

- '7ол 40 x 25 плоEк89 пл46=K9 Eт.TIA длO к45елL-к4=4л4 40 x 25 
<<. 
- �4теD84л - E4<о74туE4NI4O ко<по78F8O ��%. 

73 RMT40/25 у7ол 40 x 
25 << &-о5D47=K9 
пл46=K9 Eт.TIA 

- '7ол 40 x 25 &-о5D47=K9 пл46=K9 Eт.TIA длO к45елL-к4=4л4 40 x 
25 <<. 
- �4теD84л - E4<о74туE4NI4O ко<по78F8O ��%. 

74 MU40/25 

Eоед8=е=8е =4 EтKк 
40/25<< 

- !оед8=е=8е =4 EтKк 40 x 25 длO к45елL-к4=4л4 40 x 25 <<. 
- �4теD84л - E4<о74туE4NI4O ко<по78F8O ��%. 

75 MF40/25 747луHк4 40 
x 25 << 

- �47луHк4 40 x 25 длO к45елL-к4=4л4 40 x 25 <<. 
- �4теD84л - E4<о74туE4NI4O ко<по78F8O ��%. 

76 SM45 коDо5к4 длO 
откDKто9 пDо6одк8 
длO <еE4=87<о6 45 x 
45 << (EуппоDт =е 
=у6е=) 

- КоDо5к4 длO откDKто9 пDо6одк8 длO <еE4=87<о6 45 x 45 << 
(EуппоDт =е =у6е=) (5ел.) SM45. 
- !еGе=8е LK 45. 

77 Л���&(�) - 300 x 50 

пD, лоток 
пеDDоD8Dо64==K9 
74<ко6K9 тDу5G4тK9 
300 x 50 x 3000 <<, 
<ет4лл, 0,7 << 

- �ет4лл8GеEк89 лоток пеDDоD8Dо64==K9 - 300 x 50 x 3000 <<. 
- �8д пDодукF88 - пеDDоD8Dо64==K9 лоток. 
- �л8=4, << - 3000. 

- �4теD84л - Eт4лL, оF8=ко64==4O <етодо< !е=д8<8D4. 
- (8D8=4, << - 300. 

- �KEот4, << - 50. 

- &олI8=4 л8Eт4, << - 0,7. 

- �оле7=ое EеGе=8е, <<2
 - 14744. 

78 КЛ�&-300 кDKHк4 
лотк4 300 x 15 x 3000 
<< 

- КDKHк4 лотк4 - 300 x 15 x 3000 <<. 
- �4теD84л - оF8=ко64==4O Dуло==4O Eт4лL. 
- �4Dк4 Eт4л8 - 08 �!. 
-  47<еD, << - 300 x 15 x 3000. 

- &олI8=4 Eт4л8, << - 0,7. 

79 '�&п-300 у7ол 
плоEк89 (пл46=K9) 
90 7D4д к лотку 300 x 
50 / 1 уп. = 10 Hт. 

- '7ол плоEк89 (пл46=K9) 90 7D4д к лотку - 300 x 50 <<. 
- �4теD84л - оF8=ко64==4O Dуло==4O Eт4лL. 
- �4Dк4 Eт4л8 - 08 �!. 
-  47<еD, << - 300 x 50. 

- &олI8=4 Eт4л8, << - 0,7. 



80 К'�&п-300 кDKHк4 к 
у7лу плоEко<у 
(пл46=о<у) 90 7D4д. к 
лотку 300 x 50 / 1 уп. 
= 10 Hт. 

- КDKHк4 к у7лу плоEко<у (пл46=о<у) 90 7D4д. к лотку - 300 x 50 

<<. 
- �4теD84л - оF8=ко64==4O Dуло==4O Eт4лL. 
- �4Dк4 Eт4л8 - 08 �!. 
-  47<еD, << - 300 x 50. 

- &олI8=4 Eт4л8, << - 0,7. 

81 &&п-300 &-от6од 
пл46=K9 к лотку 300 
x 50 / 1 уп. = 6 Hт. 

- &-от6од пл46=K9 к лотку - 300 x 50 <<. 
- �4теD84л - оF8=ко64==4O Dуло==4O Eт4лL. 
- �4Dк4 Eт4л8 - 08 �!. 
-  47<еD, << - 300 x 50. 

- &олI8=4 Eт4л8, << - 0,7. 

82 К&&п-300 кDKHк4 к &-

от6оду пл46=о<у к 
лотку 300 x 50 / 1 уп. 
= 6 Hт. 

- КDKHк4 к &-от6од=о<у пл46=о<у к лотку - 300 x 50 <<. 
- �4теD84л - оF8=ко64==4O Dуло==4O Eт4лL. 
- �4Dк4 Eт4л8 - 08 �!. 
-  47<еD, << - 300 x 50. 

- &олI8=4 Eт4л8, << - 0,7. 

83 !Л'-50 Eоед8=8телL 
лотко6K9 
у=86еDE4лL=K9 длO 
лотк4 6KEото9 50 << 
(1 уп. = 150 Hт.) 

- !оед8=8телL лотко6K9 у=86еDE4лL=K9 длO лотк4 6KEото9 50 <<. 
- �4теD84л - оF8=ко64==4O Dуло==4O Eт4лL. 
- �4Dк4 Eт4л8 - 08 �!. 
- &олI8=4 Eт4л8, << - 0,7. 

84 '��&п-300 x 50 у7ол 
6=утDе==89 пл46=K9 
90 7D4д. к лотку 300 x 
50 

- '7ол 6=утDе==89 пл46=K9 90 7D4д. к лотку - 300 x 50. 

- �4теD84л - оF8=ко64==4O Dуло==4O Eт4лL. 
- �4Dк4 Eт4л8 - 08 �!. 
-  47<еD, << - 300 x 50. 

- &олI8=4 Eт4л8, << - 0,7. 

85 К'��&п-300 кDKHк4 
у7л4 6=утDе==е7о 
пл46=о7о 90 7D4д. к 
лотку 300 

- КDKHк4 у7л4 6=утDе==е7о пл46=о7о 90 7D4д. к лотку - 300. 

- �4теD84л - оF8=ко64==4O Dуло==4O Eт4лL. 
- �4Dк4 Eт4л8 - 08 �!. 
-  47<еD, << - 300 x 50. 

- &олI8=4 Eт4л8, << - 0,7. 

86 '�&п-300 x 50 у7ол 
6=еH=89 пл46=K9 90 
7D4д. к лотку 300 x 50 

- '7ол 6=еH=89 пл46=K9 90 7D4д. к лотку - 300 x 50. 

- �4теD84л - оF8=ко64==4O Dуло==4O Eт4лL. 
- �4Dк4 Eт4л8 - 08 �!. 
-  47<еD, << - 300 x 50. 

- &олI8=4 Eт4л8, << - 0,7. 

87 К'�&п-300 кDKHк4 
у7л4 6=еH=е7о 
пл46=о7о 90 7D4д. к 
лотку 300 

- КDKHк4 у7л4 6=еH=е7о пл46=о7о 90 7D4д. к лотку - 300. 

- �4теD84л - оF8=ко64==4O Dуло==4O Eт4лL. 
- �4Dк4 Eт4л8 - 08 �!. 
-  47<еD, << - 300 x 50. 

- &олI8=4 Eт4л8, << - 0,7. 

88 ��� 120 =4Eте==4O 
пл4=к4 под6еE4 120 
<< / 1 уп. = 100 Hт. 

- �4Eте==4O пл4=к4 под6еE4 - 120 <<. 
-  47<еD, << - 35 x 35 x 120. 

- &олI8=4 Eт4л8, << - 2. 

89 К��(!�)-300 ко=EолL 
под6еE4 300 << 

- Ко=EолL под6еE4 - 300 <<. 
-  47<еD, << - 30 x 60 x 340. 



- &олI8=4 Eт4л8, << - 2. 
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К !�!&���� КО�& ОЛ/ � '� ��Л���/ �О!&'�О�, !О�������/� 

� (�Л�) �О�� ���� '��/� � &�Л/%  ��Л���&�� �� О� �/&�� 

�О  ����&�. ��$ �!& 'К&' / О�.�К&О� О�-�О� ��О��&�Л0�/% 

О ������&��, � &О� Ч�!Л� �� !Ч�& � ��О!&��Л���/% ��/% 

����.���&�/% & ��!$� &О� �� $��� �Л0�О�О �.���&� �.���&�� 

!'�.�К&О�  О!!��!КО� $��� �&�� � &�Л/% !О$����!� О����/ 

 �!%О��/% О�/��&�Л0!&� !'�.�К&О�  О!!��!КО� $��� �&��, 
�О���К�.-�% � �  ��Л���&��  ���О��Л0�/% � О�К&О�, 

О��!��Ч���.-�% �О!&������ &�Л��, �ОК���&�Л�� �  ��'Л0&�&� 

$��� �Л0�О�О � О�К&� "��$О ��&�О���/ ��$ �!& 'К&' �" 

��&�О��Л0�О� � О� ���/ "&�$ О��/ 1КО�О��К� 

 О!!��!КО� $��� �&��" 

 

1. !8Eте<4 ко=тDолO 8 упD46ле=8O доEтупо< (д4лее - !К'�) Eо7д4етEO 8 (8л8) 
<одеD=878DуетEO 6 FелOE DоD<8Dо64=8O 8=DоD<4F8о==о-телеко<<у=8к4F8о==о9 
8=DD4EтDуктуDK о5Jекто6 о5Iео5D47о64телL=KE оD74=874F89, =4пD46ле==о9 =4 о5еEпеGе=8е 
ко<плекE=о9 5е7оп4E=оEт8, 4 т4к6е оD74=874F88 доEтуп4 =4 о5Jект4E о5Iео5D47о64телL=KE 
оD74=874F89 E пD8<е=е=8е< Eоот6етEт6уNIе7о о5оDудо64=8O 8 EDедEт6. 

2. ОE=о6=K<8 74д4G4<8 !К'� O6лONтEO: 

пDедот6D4Iе=8е =еE4=кF8о=8Dо64==о7о доEтуп4 =4 о5JектK о5Iео5D47о64телL=KE 
оD74=874F89; 

8де=т8D8к4F8O л8F, 8<еNI8E доEтуп =4 о5JектK о5Iео5D47о64телL=KE оD74=874F89; 

уGет 6Dе<е=8 пDе5K64=8O =4 о5Jект4E о5Iео5D47о64телL=KE оD74=874F89, 46то<4т8GеEкое 
D8кE8Dо64=8е 8 опо6еIе=8е о 6Dе<е=8 6Eод4 8 пDе5K64=8O =4 о5Jект4E о5Iео5D47о64телL=KE 
оD74=874F89; 

6еде=8е 547K д4==KE поEет8теле9 о5Jекто6 о5Iео5D47о64телL=KE оD74=874F89; 

8=те7D4F8O E E8Eте<4<8 68део=45лNде=8O 8 оED4==о9 E87=4л874F8е9, 6 то< G8Eле длO 
о7D4=8Gе=8O доEтуп4 поEтоDо==8E л8F =4 о5Jект4E о5Iео5D47о64телL=KE оD74=874F89, 4 т4к6е 
46то<4т8GеEко7о E=Oт8O 8 поEт4=о6к8 по<еIе=89 о5Jекто6 о5Iео5D47о64телL=KE оD74=874F89 
=4 оED4=у. 

3. !К'� дол6=4 Eоот6етEт6о64тL тDе5о64=8O< Eт4=д4Dто6, =оD<4< 8 пD468л4< ко<плекE=о9 
5е7оп4E=оEт8 о5Jекто6 EоF84лL=о9 8=DD4EтDуктуDK, уEт4=о6ле==K< 74ко=од4телLEт6о< 8 
=оD<4т86=о-пD46о6K<8 4кт4<8  оEE89Eко9 $едеD4F88. 

4. !о7д4=8е 8 (8л8) <одеD=874F8O !К'� оEуIеEт6лOетEO 6 Eоот6етEт688 E пDоект=о9 
(D45оGе9) доку<е=т4F8е9 (пDоект=K< DеHе=8е<), D47D454тK64е<о9 6 Eоот6етEт688 E 
оEо5е==оEтO<8 Dу=кF8о=8Dо64=8O о5Jекто6 о5Iео5D47о64телL=KE оD74=874F89, 4 т4к6е 



пD8<е=е=8е< Eоот6етEт6уNIе7о о5оDудо64=8O 8 EDедEт6 =4 оE=о64=88 доку<е=т4F88, ук474==о9 
6 пу=кте 3 =4EтоOI8E Dеко<е=д4F89. 

5. !о7д4=8е 8 (8л8) <одеD=874F8O !К'� 6клNG4ет 6 Eе5O D45отK по 74купке 8 поEт46ке 
о5оDудо64=8O 8 EDедEт6, 4 т4к6е пDо6еде=8е 8E пуEко-=4л4доG=KE 8 =ео5Eод8<KE EтDо8телL=о-

<о=т46=KE D45от. 

6. О5оDудо64=8е 8 EDедEт64 !К'� дол6=K D47<еI4тLEO =4 6Eод=KE 7Dупп4E о5Jекто6 
о5Iео5D47о64телL=KE оD74=874F89 8 Dу=кF8о=8Dо64тL 6 46то<4т878Dо64==о< Dе68<е. 

7.  е68< DуG=о7о Dу=кF8о=8Dо64=8O (E уG4Eт8е< опеD4тоD4) дол6е= пD8<е=OтLEO толLко 
пD8 6о7=8к=о6е=88 GDе76KG49=KE, 464D89=KE 8л8 тDе6о6=KE E8ту4F89, пD8 Mто< Eо5лNд4O 
=оD<K 8 пD468л4 по64D=о9 8 4=т8теDDоD8Eт8GеEко9 5е7оп4E=оEт8, 6 то< G8Eле о5еEпеGе=8е 
5еEпDепOтEт6е==о9 M64ку4F88 E о5Jекто6 о5Iео5D47о64телL=о9 оD74=874F88. 

8. О5оDудо64=8е 8 EDедEт64 !К'� дол6=K 5KтL о5еEпеGе=K =ео5Eод8<о9 ко<<ут4F8е9 8 
8EтоG=8к4<8 MлектD8GеEко7о п8т4=8O. 

9. !К'� <о6ет 8<етL допол=8телL=Kе EDедEт64 EпеF84лL=о7о ко=тDолO (<ет4ллодетектоDK, 
о5=4Dу68тел8 D4д8о4кт86=KE 6еIеEт6 8 т.д.) - к4к 6EтDое==Kе, т4к 8 Eо6<еEт=о 
Dу=кF8о=8DуNI8е E дDу78<8 E8Eте<4<8 ко<плекE=о9 5е7оп4E=оEт8 о5Jекто6 
о5Iео5D47о64телL=KE оD74=874F89. 

10. !К'� дол6=4 8<етL EDедEт64 Fе=тD4л87о64==о7о упD46ле=8O, 6 к4GеEт6е котоDKE 
8EполL7уNтEO 46то<4т878Dо64==Kе D45оG8е <еEт4 !К'� E Eоот6етEт6уNI8< пDо7D4<<=K< 
о5еEпеGе=8е<. 

11. �Dо7D4<<=ое о5еEпеGе=8е !К'� дол6=о 5KтL 74I8Iе=о от =еE4=кF8о=8Dо64==о7о 
доEтуп4, 4 т4к6е уEто9G86о к EлуG49=K< 8 пDед=4<еDе==K< 6о7де9Eт68O<, 6 то< G8Eле пD8 е7о 
пеDе74пуEке дол6=4 EоED4=OтLEO D45отоEпоEо5=оEтL !К'� 8 EоED4==оEтL уEт4=о6ле==KE д4==KE. 

 

 

 

 

 

�D8ло6е=8е N 3 

к <етод8GеEк8< Dеко<е=д4F8O< 

 

 �КО�����&�� 

К О ������&�� !�!&��/ ����О���Л.����/ О�.�К&О� 

О�-�О� ��О��&�Л0�/% О ������&��, О!'-�!&�Л/��О� � &�Л/% 

 ��Л���&�� �� О� �/&�� �О  ����&�. ��$ �!& 'К&' / О�.�К&О� 

О�-�О� ��О��&�Л0�/% О ������&��, � &О� Ч�!Л� �� !Ч�& 

� ��О!&��Л���/% ��/% ����.���&�/% & ��!$� &О� 

�� $��� �Л0�О�О �.���&� �.���&�� !'�.�К&О� 

 О!!��!КО� $��� �&�� � &�Л/% !О$����!� О����/  �!%О��/% 

О�/��&�Л0!&� !'�.�К&О�  О!!��!КО� $��� �&��, �О���К�.-�% 

� �  ��Л���&��  ���О��Л0�/% � О�К&О�, О��!��Ч���.-�% 

�О!&������ &�Л��, �ОК���&�Л�� �  ��'Л0&�&� $��� �Л0�О�О 

� О�К&� "��$О ��&�О���/ ��$ �!& 'К&' �" ��&�О��Л0�О� 

� О� ���/ "&�$ О��/ 1КО�О��К�  О!!��!КО� $��� �&��" 

 

1. !8Eте<4 68део=45лNде=8O о5Jекто6 о5Iео5D47о64телL=KE оD74=874F89 
оD74=87о6K64етEO 6 FелOE DоD<8Dо64=8O 8=DоD<4F8о==о-телеко<<у=8к4F8о==о9 
8=DD4EтDуктуDK о5Jекто6 о5Iео5D47о64телL=KE оD74=874F89, =4пD46ле==о9 =4 о5еEпеGе=8е 



ко<плекE=о9 5е7оп4E=оEт8. 

2. ОE=о6=K<8 74д4G4<8 E8Eте<K 68део=45лNде=8O O6лONтEO: 

Eо7д4=8е уEло689 длO о5еEпеGе=8O 5е7оп4E=оEт8 уG4Eт=8ко6 о5D47о64телL=о7о пDоFеEE4, 6 
то< G8Eле пD8=Oт8е E6ое6Dе<е==KE <еD по ок474=8N 8< по<оI8 8 8E 74I8те 6 EлуG4е 
6о7=8к=о6е=8O =еHт4т=KE 8 GDе76KG49=KE E8ту4F89; 

о5еEпеGе=8е 4=т8теDDоD8Eт8GеEко9 74I8тK уG4Eт=8ко6 о5D47о64телL=о7о пDоFеEE4 6 
о5D47о64телL=о9 оD74=874F88, оED4=K поDOдк4 8 5е7оп4E=оEт8; 

68деоD8кE4F8O 6о7<о6=KE пDот86опD46=KE де9Eт689, котоDKе <о7ут =4=еEт8 6Dед 
7доDо6LN 8 687=8 уG4Eт=8к4< о5D47о64телL=о7о пDоFеEE4, 4 т4к6е 8<уIеEт6у 
о5Iео5D47о64телL=о9 оD74=874F88. 

3. !8Eте<4 68део=45лNде=8O дол6=4 Eоот6етEт6о64тL тDе5о64=8O< Eт4=д4Dто6, =оD<4< 8 
пD468л4< ко<плекE=о9 5е7оп4E=оEт8 о5Jекто6 EоF84лL=о9 8=DD4EтDуктуDK, уEт4=о6ле==K< 
74ко=од4телLEт6о< 8 =оD<4т86=о-пD46о6K<8 4кт4<8  оEE89Eко9 $едеD4F88. 

4. ОD74=874F8O E8Eте<K 68део=45лNде=8O, 6 то< G8Eле ее Eо7д4=8е 8 (8л8) <одеD=874F8O, 
оEуIеEт6лOетEO 6 Eоот6етEт688 E пDоект=о9 (D45оGе9) доку<е=т4F8е9 (пDоект=K< DеHе=8е<), 
D47D454тK64е<о9 6 Eоот6етEт688 E оEо5е==оEтO<8 Dу=кF8о=8Dо64=8O о5Jекто6 
о5Iео5D47о64телL=KE оD74=874F89, 4 т4к6е пD8<е=е=8е< Eоот6етEт6уNIе7о о5оDудо64=8O 8 
EDедEт6 =4 оE=о64=88 доку<е=т4F88, ук474==о9 6 пу=кте 3 =4EтоOI8E Dеко<е=д4F89. 

5. !о7д4=8е 8 (8л8) <одеD=874F8O E8Eте<K 68део=45лNде=8O 6клNG4ет 6 Eе5O D45отK по 
74купке 8 поEт46ке о5оDудо64=8O 8 EDедEт6, 4 т4к6е пDо6еде=8е 8E пуEко-=4л4доG=KE 8 
=ео5Eод8<KE EтDо8телL=о-<о=т46=KE D45от. 

6. �еDеGе=L 7о=, тDе5уе<KE к покDKт8N E8Eте<о9 68део=45лNде=8O: 

<еEт4 6о7<о6=о7о =еE4=кF8о=8Dо64==о7о пDо=8к=о6е=8O поEтоDо==8E л8F (6Eод=Kе 
7DуппK); 

теDD8тоD8O пеDед о5Jект4<8 о5Iео5D47о64телL=о9 оD74=874F88 8 74 =8<8, 87Dо6Kе 8 
EпоDт86=Kе плоI4дк8, дDу78е о5JектK 8=DD4EтDуктуDK, =4EодOI8еEO =4 теDD8тоD88 
о5Iео5D47о64телL=о9 оD74=874F88; 

коD8доDK, D47де64лк8 длO 6еDE=е9 оде6дK, леEт=8G=Kе пDолетK, EоллK, 6 по<еIе=8OE 
уGе5=KE коDпуEо6, пDед=47=4Gе==KE длO пDо6еде=8O EпоDт86=KE, <4EEо6KE, кулLтуD=о-

D476лек4телL=KE <еDопD8Oт89 (EпоDт86=K9, 4кто6K9 74лK). 

7. �D8 опDеделе=88 <еEт уEт4=о6к8 68деок4<еD Dеко<е=дуетEO о5еEпеG8тL: 

<8=8<874F8N "EлепKE" 7о= EFе= о57оD4 68деок4<еD; 

8EполL7о64=8е <8=8<4лL=о =ео5Eод8<о7о кол8GеEт64 68деок4<еD длO ко=тDолO 
теDD8тоD88; 

EFе=K о57оD4 =е дол6=K пеDекDK64тLEO (д46е G4Eт8G=о) опт8GеEк8 =епDо7D4G=K<8 
пDепOтEт68O<8, <еH4NI8< о57оDу. 

8. 'G4Eт=8к8 о5D47о64телL=о7о пDоFеEE4, котоDKе поте=F84лL=о <о7ут поп4EтL 6 7о=у 
68део=45лNде=8O, дол6=K 5KтL пDо8=DоD<8Dо64=K о5Iео5D47о64телL=о9 оD74=874F8е9 о 
68део=45лNде=88. �лO опо6еIе=8O <о7ут 8EполL7о64тLEO EледуNI8е DоD<K: D47<еIе=8е 
EпеF84лL=KE о5JO6ле=89 пеDед 6Eодо< =4 теDD8тоD8N, =4 котоDо9 6едетEO 68део=45лNде=8е, 
8=DоD<8Dо64=8е уG4Eт=8ко6 о5D47о64телL=о7о пDоFеEE4 =4 D47л8G=о7о Dод4 Eо5D4=8OE. 



9. � EлуG4е, еEл8 E8Eте<4 68део=45лNде=8O по76олOет отEле6864тL деOтелL=оEтL 
EотDуд=8ко6 о5Iео5D47о64телL=KE оD74=874F89 =4 D45оGе< <еEте 8л8 6 8=KE по<еIе=8OE, 
74кDKтKE длO о5Iе7о доEтуп4, т4кое =45лNде=8е EG8т4етEO о5D45отко9 пеDEо=4лL=KE д4==KE. 

10. О5Iео5D47о64телL=Kе оD74=874F88 дол6=K пD8=8<4тL <еDK, =ео5Eод8<Kе 8 
доEт4тоG=Kе длO о5еEпеGе=8O 6Kпол=е=8O о5O74==оEте9, пDедуE<отDе==KE $едеD4лL=K< 
74ко=о< "О пеDEо=4лL=KE д4==KE" 8 пD8=OтK<8 6 Eоот6етEт688 E =8< =оD<4т86=K<8 пD46о6K<8 
4кт4<8. 

11. !8Eте<4 68део=45лNде=8O дол6=4 пDедEт46лOтL Eо5о9 Eо6окуп=оEтL пDо7D4<<=KE 8 
4пп4D4т=KE <одуле9, =ео5Eод8<KE длO: 

о5еEпеGе=8O о5D45отк8 8 ED4=е=8O д4==KE, полуGе==KE 6 Dе7улLт4те кDу7лоEутоG=о7о 
68део=45лNде=8O 74 по<еIе=8O<8 8 теDD8тоD8е9 E 8EполL7о64=8е< <=о6еEт64 тоGек 
68део=45лNде=8O; 

о5еEпеGе=8O EопDо6о6де=8O =45лNд4е<KE о5Jекто6 6 DуG=о< Dе68<е; 

EоED4=е=8O 5олLHо7о о5Jе<4 д4==KE 68део=45лNде=8O; 

пDо6еде=8O по8Eк4 8=теDеEуNI8E Eо5Kт89 по 4DE86=K< 68део74п8EO<. 

12. !8Eте<4 68део=45лNде=8O о5D47о64телL=о9 оD74=874F88 дол6=4 Eоот6етEт6о64тL 
EледуNIе<у <8=8<4лL=о<у =45оDу тDе5о64=89: 

кDу7лоEутоG=4O MкEплу4т4F8O; 

8EполL7о64=8е EуIеEт6уNIе9 лок4лL=о9 6KG8Eл8телL=о9 Eет8 о5Iео5D47о64телL=о9 
оD74=874F88 6 к4GеEт6е EDедK пеDед4G8 д4==KE; 

пDо7D4<<=ое о5еEпеGе=8е E8Eте<K дол6=о 5KтL поEтDое=о =4 547е отеGеEт6е==о7о 
пDо876од8телO 8 EодеD64тLEO 6 �д8=о< DееEтDе DоEE89Eк8E пDо7D4<< длO MлектDо==KE 
6KG8Eл8телL=KE <4H8= 8 547 д4==KE 8 8<етL 6о7<о6=оEтL поддеD6к8 EеDт8D8F8Dо64==KE $!� 
!�К�  оEE88 Eоот6етEт6уNI8E теE=8GеEко9 EпеF8D8к4F88 &К 26 N &!26.2.002-2014, 8EполL7о64=8е 
�О!& 28.147-89 пD8 H8DDо64=88 6ло6е=89 6 пDотокол4E IP Sec ESP; 

пDо7D4<<=ое о5еEпеGе=8е E8Eте<K дол6=о O6лOтLEO 74ко=Gе==K< (пDо<KHле==K<) 
пDо7D4<<=K< пDодукто<; 

дол6=4 5KтL о5еEпеGе=4 <4EHт458Dуе<оEтL E8Eте<K (о5еEпеGе=8е 6о7<о6=оEт8 D4768т8O 8 
<одеD=874F88). 

13. !8Eте<4 68део=45лNде=8O дол6=4 о5еEпеG864тL пеDед4Gу 687у4лL=о9 8=DоD<4F88 о5о 
6EеE о5Jект4E 68део=45лNде=8O, поп4д4NI8E 6 поле 7Dе=8O 68деок4<еD, =4 
46то<4т878Dо64==ое D45оGее <еEто опеD4тоD4. �D8<е=е=8е 68део=45лNде=8O по76олOет 6 
EлуG4е полуGе=8O 876еIе=8O о тDе6о6=о9 E8ту4F88 опDедел8тL ее E4D4ктеD, <еEто 
6о7=8к=о6е=8O 8 опт8<4лL=Kе <еDK по лок4л874F88 E8ту4F88. 

14. �о теE=8GеEк8< E4D4ктеD8Eт8к4< 8 Dу=кF8о=4лL=K< 6о7<о6=оEтO< E8Eте<4 
68део=45лNде=8O дол6=4 от=оE8тLEO ко II кл4EEу (  78.36.008-99), D45от4тL пD8 =87ко< 

оE6еIе=88, т.е. 6 д84п47о=е оE6еIе==оEте9 от пол=о7о Eол=F4 (105 лк) до Eу<еDек 
(пD85л878телL=о 15 лк). 

15. !8Eте<4 68део=45лNде=8O дол6=4 8<етL 6о7<о6=оEтL пD8<е=е=8O Dу=кF89 
68део4=4л8т8к8. 

16. �Dо7D4<<=ое о5еEпеGе=8е дол6=о 8<етL 6о7<о6=оEтL 8=те7D4F88 EпоEо54<8, =е <е=ее 

consultantplus://offline/ref=4240644257C4ADFBA290274A51A635E296222E00B621F0CDAD6ACFED1BECE83E93148D4EE5DD68750669B4164El2u7J
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17. !DедEт64 о5D45отк8 68деоE87=4л4 дол6=K о5еEпеG864тL: 

декод8Dо64=8е 68део8=DоD<4F88; 

упD46ле=8е ото5D46е=8е< 68део8=DоD<4F88; 

DоD<8Dо64=8е <улLт8MкD4==о7о 87о5D46е=8O; 

6о7<о6=оEтL D4EпеG4тк8 6K5D4==о7о к4дD4 ("Eтоп-к4дD"). 

18. �Dо7D4<<=ое о5еEпеGе=8е дол6=о о5еEпеG864тL: 
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поддеD6ку д8EпетGеD874F88 68деопотоко6, упD46ле=8O ото5D46е=8е< 8 D45отK E 
68део4DE86о<; 

6K5оD ото5D464е<KE к4<еD по =4764=8N, =о<еDу 8л8 дDу78< удо5=K< 4EEоF84т86=K< 
пD87=4к4<; 

упD46ле=8е ко<<ут4F8е9 пD8е<=KE теE=8GеEк8E EDедEт6 к 68део8EтоG=8к4< E D47л8G=K<8 
IP-4дDеE4<8. 

19.  еко<е=дуетEO пD8<е=е=8е пDо7D4<<=о7о о5еEпеGе=8O, от6еG4NIе7о EледуNI8< 
тDе5о64=8O<: 

DуE8D8F8Dо64==K9 полL7о64телLEк89 8=теDDе9E; 

поддеD6к4 8EполL7о64=8O Dе68<4 "Eтоп-к4дD" E 6о7<о6=оEтLN 6K5оD4 е7о DD47<е=т4 длO 
EоED4=е=8O 8л8 поEледуNIе9 D4EпеG4тк8; 

DоD<8Dо64=8е 8 отпD46к4 упD46лONI8E ко<4=д длO по6оDот=KE уEтDо9Eт6 (6 EлуG4е 
пD8<е=е=8O 8E 6 E8Eте<е). 

20. !8Eте<4 68део=45лNде=8O дол6=4 о5еEпеG864тL: 

74п8EL 68део8=DоD<4F88, полуGе==о9 от 68деок4<еD, 5е7 оEуIеEт6ле=8O допол=8телL=о7о 
E64т8O 8л8 пеDекод8Dо64=8O 6 дDу78е DоD<4тK; 

6о7<о6=оEтL полуGе=8O 8 упD46ле=8O =е <е=ее Gе< 4-<O 68деопоток4<8 от к4<еD: 2 поток4 
длO тD4=EлOF88 =4 �� -опеD4тоDо6 8 пD8<е=е=8O Dу=кF89 68део4=4л8т8к8, 2 - длO 74п8E8 6 
6KEоко< 8 =87ко< D47DеHе=8OE; 

6748<оде9Eт68е E8Eте<K E 6=еH=8<8 Mле<е=т4<8 =4 оE=о6е ед8=о7о 8 откDKто7о Eт4=д4Dт4 
8=теDDе9Eо6; 

6 EлуG4е =ео5Eод8<оEт8, 6о7<о6=оEтL 74I8Iе==о7о подклNGе=8O 6=еH=8E кл8е=тEк8E <еEт 
длO полL7о64теле9 87 подD47деле=89 6едо<Eт6 �'!  оEE88, $!�  оEE88, ���  оEE88 8 дDу78E 
748=теDеEо64==KE 6едо<Eт6; 

EоED4=е=8е Dу=кF89, 7оD87о=т4лL=уN <4EHт458Dуе<оEтL 8 ед8=Eт6о упD46ле=8O пD8 
D4EH8Dе=88 кол8GеEт64 68деок4<еD E8Eте<K; 

6о7<о6=оEтL <одеD=874F88 8л8 74<е=K отделL=KE ко<по=е=то6 E8Eте<K =е7468E8<о от 
дDу78E; 



Fе=тD4л87о64==ое 4д<8=8EтD8Dо64=8е 8 упD46ле=8е пол8т8ко9 D477D4=8Gе=8O доEтуп4 
полL7о64теле9 к DеEуDE4< E8Eте<K; 

6о7<о6=оEтL Dу=кF8о=8Dо64=8O пDо7D4<<=о7о о5еEпеGе=8O 6 <=о7о<о=8тоD=KE 
ко=D87уD4F8OE � �-опеD4тоDо6 E о5еEпеGе=8е< D4EпDеделе=8O ко=те=т4 8=теDDе9E4 по 
<о=8тоD4< � �-опеD4тоD4; 

6748<оде9Eт68е E E8Eте<о9 Dеко<е=дуетEO оEуIеEт6лOтL =4 оE=о6е откDKтKE Eт4=д4Dто6 
Eете6о7о 68део (ONVIF); 

EетL пеDед4G8 д4==KE E8Eте<K дол6=4 о5еEпеG864тL пDопуEк=уN EпоEо5=оEтL (тD4D8к) от 
к46до9 к4<еDK 68део=45лNде=8O до у7л4 о5D45отк8 8/8л8 ED4=е=8O 68деод4==KE. 
 еко<е=дуе<4O пDопуEк=4O EпоEо5=оEтL к4=4л4 - =е <е=ее 10 �58т/E от к46до9 68деок4<еDK; 

пDоEто9, 8=ту8т86=о по=Oт=K9, доку<е=т8Dо64==K9 8=теDDе9E; 

8еD4DE8GеEк89 пD8=F8п поEтDое=8O E8Eте<K E 6о7<о6=оEтLN 7Dупп8Dо6к8 уEтDо9Eт6 8 
8EтоG=8ко6 по теDD8тоD84лL=о<у 8л8 ло78GеEко<у пD87=4ку; 

D4EпDеделе=8е пD46 полL7о64теле9 по доEтупу к 8EтоG=8к4< 68део по 4пп4D4т=о<у 8л8 
ло78GеEко<у пD8=F8пу; к46дK9 опеD4тоD дол6е= 8<етL пол=о<оG8O по доEтупу к 8EтоG=8к4< =4 
пDоE<отD, <одеD=874F8N п4D4<етDо6, полуGе=8е текуIе7о EоEтоO=8O, пDоE<отD 4DE864 E 
ук474=8е< 7лу58=K 6 Eоот6етEт688 E е7о Eлу6е5=K<8 пол=о<оG8O<8; 

ото5D46е=8е <еEт D4Eполо6е=8O, =4пD46ле=8O 8 7о= о57оD4 68деок4<еD =4 MлектDо==о9 
к4Dте, 8<еNIе9 пD86O7ку к 7ео7D4D8GеEк8< кооDд8=4т4< <еEт=оEт8, 8 поMт46=KE пл4=4E 
EтDое=89; 

74п8EL 4DE864 дол6=4 6еEт8EL E 6о7<о6=оEтLN пDоE<отD4 87о5D46е=8O от к46до9 к4<еDK 
(пD8 =ео5Eод8<оEт8 6 пол=оMкD4==о< DоD<4те), 4 т4к6е 6о7<о6=оEтLN MкEпоDт4 8 74п8E8 =4 
F8DDо6Kе =оE8тел8 8=DоD<4F88 E 6о7<о6=оEтLN 8EполL7о64=8O Dе68<4 "Eтоп-к4дD" E 
пDедоEт46ле=8е< 6K5оD4 е7о DD47<е=т4 длO EоED4=е=8O 8л8 поEледуNIе9 D4EпеG4тк8; 

дол6=4 о5еEпеG864тLEO 6о7<о6=оEтL 5KEтDо7о пеDеEод4 к 7Dуппе 68део87о5D46е=89 
к4<еD, D4Eполо6е==KE 6 =епоEDедEт6е==о9 5л87оEт8 E 8=теDеEуNIе9 68деок4<еDо9; 

опеD4тоD дол6е= 8<етL 6о7<о6=оEтL =45лNд4тL о5IуN к4Dт8=у пDо8EEодOIе7о =4 о5Jекте 
8, пD8 =ео5Eод8<оEт8, дол6е= 8<етL 6о7<о6=оEтL по6KE8тL уDо6е=L дет4л874F88 6 
8=теDеEуNIе< <еEте 8 полуG8тL 5олее дет4лL=уN 8=DоD<4F8N; 

дол6=4 о5еEпеG864тLEO поддеD6к4 <=о7оуDо6=е6KE к4Dт 8 пл4=о6, о5еEпеG864NI8E 
од=о6Dе<е==ое ото5D46е=8е 5олLH8E теDD8тоD89 E 6о7<о6=оEтLN пл46=о9 дет4л874F88 
8=теDеEуNI8E о5л4Eте9; 

кол8GеEт6о од=о6Dе<е==о 8EполL7уе<KE к4Dт <еEт=оEт8 дол6=о 5KтL =е <е=ее 20 Hт.; 

пл4=K EтDое=89 дол6=K о5еEпеG864тL ото5D46е=8е Mт46=оEт8 EтDое=8O 8 пDедоEт46лOтL 
6о7<о6=оEтL =46874F88 по поMт46=K< пл4=4< EтDое=8O; 

дол6=4 о5еEпеG864тLEO 6о7<о6=оEтL DуG=о7о упD46ле=8O опеD4тоDо< по6оDот=K<8 
68деок4<еD4<8, 6 EлуG4е 8EполL7о64=8O 6 EоEт46е E8Eте<K, пD8 по<оI8 68Dту4лL=о7о д6о9Eт8к4 
8л8 ук474=8O =4 8=теDеEуNIуN о5л4EтL =4 8=теD4кт86=о9 к4Dте о5Jект4, длO =46еде=8O 6 
8=теDеEуNIуN о5л4EтL 8 отEле6864=8O E8ту4F88; 

EDедEт64 оF8DDо6к8 8 74п8E8 дол6=K поддеD6864тL дуплекE=K9 Dе68< Dу=кF8о=8Dо64=8O 
(6о7<о6=оEтL од=о6Dе<е==о9 74п8E8 8 6оEпDо876еде=8O 68део8=DоD<4F88); 



дол6е= 6еEт8EL 4DE86 74п8E4==о9 68део8=DоD<4F88 E к4GеEт6о< =е <е=ее 15 к4дDо6 6 
Eеку=ду длO к46до9 к4<еDK (EDок ED4=е=8O 68део8=DоD<4F88 опDеделOетEO ко=кDет=K< 
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68део<о=8тоDK 8 EDедEт64 упD46ле=8O E8Eте<о9 68део=45лNде=8O дол6=K 5KтL 
уEт4=о6ле=K =4 кл8е=тEк8E � �; 

уEтDо9Eт64 упD46ле=8O 8 ко<<ут4F88 68деоE87=4ло6, поEтуп4NI8E E к4<еD, дол6=K 
о5еEпеG864тL поEледо64телL=ое 8л8 <улLт8MкD4==ое 6оEпDо876еде=8е 87о5D46е=89 от 6EеE 
к4<еD; 

дол6=4 оEуIеEт6лOтLEO 6о7<о6=оEтL опеD4т86=о7о 4DE86=о7о по8Eк4 68део74п8Eе9 по 
74д4==K< п4D4<етD4< - по д4те, 6Dе<е=8, =4764=8N 68деок4<еDK, т8пу о5Jект4; 

дол6=4 6Kпол=OтLEO Dе78EтD4F8O де9Eт689 опеD4тоD4 6 E8Eте<е. 
 

 
 

 


